
�����	� ��

����������	 
��
����	�

�	
��	��
�

�� ���*�����
�+� �
�� ��� ���� ��� ,�
	
�� ���� @���
�
��
� ;
� 4
��!
����
���
���
 ��
� 
�� �	
� ;(
� ,
�
��
� 
����
��5 (
���
 N�����
�
�O 4
��!
����
� ��� �
��
� �
�
��� ���5 �� ����
�� ��� 	�


0�3 ��������
� 4
������
�5
0��3 ��������
������
� 
�	 ��*
��������
� 4
������
� ;
����
� ��� 	
� $�!

*��
������
������ 
�	 ���
 E��
���
������
�

��(�
 
:
��

�� 	�


0���3 H����!4
������'

F
� ��
���
� ���
�
� $��
���� ����� ���5 (
�� ��� 	�
 ,���	��	!�
����!
��
� ;
� 4
������
���
���
 �
� �����
�
 4
������
� 	
�����
��'

)� ���
� 	�
� ���
�
�
�
� 8
��*�
������
� ���
��� ��� 
��
������ �
��
 ;
�<�;!
����
 ��
���
 ��� 	�
 8
���	�
�� 	
� 4
������
�5 ��� ���� ��
 :�
��
�� ���

N4
������
���
���
O5 	' �' ���
 @
�(
�	
�� :�� ,<�;
� 	�
�
� ��
���
5 	��
��
�
��
��
�% ��� ��� 	��
� �
	������ 	�
 �� 	
� �

��
� �������� ������
� 8
����!
	
��
� �
� ���*�
�
 ���
�
��
 �
�;
	
��
�'

���������� �
�
�
� (��
� 0�3 
�	 0��3 ��(�
 	�
 (
�
������
� �
��
 :�� 0���3 ���
;
� 8
���� 	
� 12' A����
�	
��� �
�����' $��� �� 12' A����
�	
�� �
����� 	�

4
������
���
���
 ���
� ,�
�
�;
� 	
��� 	�
 ��������5 ����	
� 
��
 ��
���

;
� 8
���	�
�� �


� 4
������
������
� 
��(���
�� (
�	
� �
���
' $��
 �����

�


 �����
 :�� 4
������
� (��	 �� 	�
�
� ��*��
� ) 
��
��
���'

 � ����+�"��������*����� )� �
��
�
�	
� 1B' 
�	 �
����
�	
� 12' A����
�!
	
�� (
�	
 ���
� (�
	
� 	�� D����
� 	
� 8
�
���
�� 
��
� )��
����� 	
� 4���

F (x) :=

x∫
a

dt√
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dt√
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(−a
0

)
, q =

(
a

0

)
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x

y

)
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E(x) :=

x∫
0

1 + At2 +Bt4√
1 + Ct2 +Dt4

dt013
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E(x) + E(y) − E(z) = xyz ·
(
−A− x2 + y2 + z2

2
B +

x2y2z2

6
BD

)
0�3
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z :=
x
√

1 + Cy2 +Dy4 + y
√

1 + Cx2 +Dx4

1 −Dx2y2
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x2

a2
+
y2

b2
= 1 , a > 0 , b > 0,
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y =
b

a

√
a2 − x2 , y′ = − b

a

x√
a2 − x2

, 0 ≤ x < a.
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a

x∫
0

√
a4 + (b2 − a2)s2

√
a2 − s2

ds = a

x/a∫
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√
1 + kt2√
1 − t2

dt , k :=
b2 − a2

a2
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dt
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u := u(ϕ) :=

ϕ∫
0

dψ√
1 − k2 sin2 ψ
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sinϕ = sin(amu) , cosϕ = cos(amu) ,
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1 − k2 sin2 ϕ = ∆(amu)
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Dαf = Df , α �= 0 , Df+g ⊂ Df ∪Dg , Dfg ⊂ Df ∪Dg'

9��� 	
� )	
����<�����; ��� 	�
 9
����
��
��
��
 
��
� 0 �= f ∈ M ���
�������
�

�	 	����
� �� C'  ���� ��� �
�� 1/f �
� C �
�����*� 
�	 
� ���� 	
�

("�&� ��� 
�! C ����������
 ��
����
�
 M ,����
 ��
�
 1�����#

-�����
�+��� �3  �
 �
�����*�
� 4
������
� �
� C ���	 
���
�
� 	
�
������
� ,*�����
���
�� ����� �
� C 	
/��
��
 �����	
��
�'  
��� 	�
 ������

$�(
��
�
�� 	
�  
/������ f(c) := ∞ ��� ���
 c ∈ Df 
��<�� ��� -
�;� �
�
-
	
� �
�����*�
� 4
������ f 
��
 �����	
�� f : C → P(C) := C ∪ {∞}'  �

@
����*�
��
� �� M ���	 	��� ��� 	
� ������
� �
��
��
�
�� ��� 	�� �
���
�
��� E�
�	����5

c+ ∞ = ∞ ,
α

0
= ∞ ,

α

∞ = 0 , α · ∞ = ∞ ��� α �= 0 
�('



1� �����	� �� ��������
�	 ��������	�

:
���<�����'  �
 8
;
����
�� P(C) ���� 	���� 
����
��5 	��� C ∪ {∞} �
� ��!
�������
 �
��
 ��� 	
� ���7������
 4
�� P1(C) �	
���/;�
�� (
�	
� ����' ���
����
�� (��	 :
��
���5 	��� (
	
� 0 · ∞ ���� ∞ ± ∞ 	
/��
�� ���	%  �
�

8��	
��
� ���
� �
��
� ,���'
�3 ���
������� ��� M 	
� V
���
��
��G�*
� 	
� ����
� ���
� ���;
� 4
������
�%
F
 -
	
� f ∈ M ���� 
� �
� C �������*�
 4
������
� p 
�	 q , q �≡ 05 ���

f(z) = p(z)/q(z) ��� ���
 z ∈ C \Df .

4�� 
��
� 8
(
�� :
���
���
 ��� �' -�����
 R122"T5 ,��; 7'1'"'

 � ,������� ��������
�� �
��������� F
�<���� ����
� (�� 
��
 �����!
;
�	
5 
�����:
���<�	����
 ,���
��(
��
 
��% 4�� ω ∈ C 
�	 D ⊂ C �
� 	�

�
���
��
 D + ω :�� C 
���<�� 	
���

013 D + ω := {d+ ω ; d ∈ D}'
CQ
���� ���� 	���

0�3 (D + ω) + ω′ = D + (ω + ω′) ��� ω, ω′ ∈ C'

,
� f 
��
 �
�����*�
 4
������ �
� C' $�� ω ∈ C �
�J� ������� :�� f 5 (
��

0D'13 Df + ω = Df 
�	
0D'�3 f(z + ω) = f(z) ��� ���
 z ∈ C \Df


������ ���' ���:���
�(
��
 ��� 0 
��
 D
���	
 :�� f ��� -
	
� f ∈ M' $� �
;
����

Per f 	�
 �
��
 	
� D
���	
� :�� f ' �
�
� 0�3 ��
�� ��� ������5 �
�� Per f �����
��
� 8
��������� ��� 
�������
 ������ C ���' 4��	
�� ��� 0D'�3 ��� ���
 z ∈ C5
��� (
���
 �
�	
 ,
��
� :�� 0D'�3 
���<�� ���	5 	��� ��� 0D'13 
��
 ����
M

�;
:�� 0D'�3' 9�������� ���� Per f = C ��� -
	
 ��������
 4
������ f '

$���"� 	�� f ∈ M 
���� ��
��

� �


 ��� Per f ��
� 
,����������
� ��������
8
��������� ��� 
�������
 ������ (C,+)#

$�����# )�� Per f ����� 	����
� �	
� ����� ���
�������
�5 	��� ���� 
� *���(
��

:
�����
	
�
 ωn ∈ Per f , n ≥ 15 ��� 	�
 ω := limn→∞ ωn 
�����
��' �
� 0D'13
����
�� ��� Df + ω = Df 5 	� Df ���
�������
� �� C ���' )�� f �� c �������*�5
	��� ��� f ���� �
�� �� c+ω �������*� 
�	 
� ���� f(c) = f(c+ωn) ��� ���
 n'
9��� 	
� )	
����<�����; ��� f ��
� �������� ��
��� f(c) = f(c+ ω)' �

$��
 8
����
��
�� 	
� �G�����
� D
���	
��
��
� �
������
� 	��

'� �
��"����"�8$���"� 	�� f ∈ M 
���� ��
��

� �� ����� ��

� ��
�� ���
���� !����
��
 �0��� ��
9
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0)3 Per f = {0}'
0))3 :� ��,� ��
 ,�� 
�! �
� &��+�����
 ��
������ ,��������� ωf ∈ C \ {0} ���

��� :���
���
!� Per f = Zωf := {mωf ; m ∈ Z}'
0)))3 :� ��,� ω1, ω2 ∈ C \ {0} ��� !����
��
 :���
���
!��


0�3 Per f = Zω1 + Zω2 := {m1ω1 +m2ω2 ; m1, m2 ∈ Z}'
0��3 ω1, ω2 ��
� ��
�
� �

,�0
��� ",�� R#
0���3 τ := ω1/ω2 ��!"��� Im τ > 0, |Re τ | ≤ 1

2
�
� |τ | ≥ 1#

ω1, ω2 ∈ C \ {0} ���	 �Q
���� �
��
 	��� ���
�� 
����<���� ��
� R5 (
��
ω1/ω2 ����� �

�� ���'

$�����# ,
� Per f �= {0}'  � Per f ���� �
��� � ���
�������
� 
�	 	����
�
���5 ���� 
� ���� 1013 
�� ωf ∈ Per f ��� 	
� $��
�������

0∗3 0 < |ωf | = inf{|ω| ; 0 �= ω ∈ Per f}'
��� 
��
��
��
� ;
�<���� 	�
 D
���	
� �
� 	
� H
��	
� Rωf '

-�
"
��
�+0 Per f ∩ Rωf = Zωf '

$�����# CQ
���� ���� Zωf ⊂ Per f ∩ Rωf ' 4�� 
�� �
��
���
� ω ∈ Per f ∩ Rωf

���� 
� 
�� α ∈ R ��� ω = αωf ' ��� (<��� m ∈ Z ��� |α−m| < 1 
�	 
��<��

|ω −mωf | = |α−m| · |ωf | < |ωf |.
 � ��� ω 
�	 ωf �
�� ω−mωf ;
 Per f ∩Rωf �
�G��5 ����� ω = mωf �
� 0∗3'
���� ��� ��� �
�� Per f ∩ Rωf ⊂ Zωf ' �

��
�� Per f �
� 
��
� H
��	
� 	
���
05 ���� �
� Rωf 5 �� ����� 0))3 �
� 	
�
8
��
*�
��' F
� $��	

����
�� �
���!
�
 ���5 	��� Zω = Zω′ ��� ω, ω′ ∈ C
�
�
��� ω′ = ±ω ��*��;�
��'
��� 	���
� ����� Zωf �= Per f ���
�!
�
�' 9��� 1013 
�����
�� 	��� �
�� 
��
$�
�
�� ω1 ∈ Per f \ Zωf ���

(∗∗) |ω1| = inf{|ω| ; ω ∈ Per f \ Zωf}.

,
� ω2 := ωf '  ��� ���� τ := ω1/ω2 /∈ R
���� 	
� 8
��
*�
��' ���� ���	 ω1, ω2

���
�� 
����<���� ��
� R' )�	
� ���
���' ω1 	
��� −ω1 
��
�;�5 	��� ��� ��!
�
 $������<��
�� Im τ > 0 ���
��
�'
�
� 0∗3 �����

|ω1| ≥ |ω2|, ���� |τ | ≥ 1.
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0

•ωf
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���' �% D
���	
��
��


•0
• ω1
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• ω

•ω′
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......................................................................................
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.......................................................................................
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���' 7% D
���	
�����
�



1I �����	� �� ��������
�	 ��������	�

�
�
� 0∗∗3 ����
|ω1 ± ω2| ≥ |ω1|, ���� |τ ± 1| ≥ |τ |


�	 	���� |Re τ | ≤ 1/2'

CQ
���� ���� Zω1 + Zω2 ⊂ Per f ' ,
� �
� ω ∈ Per f '  � ω1, ω2 
��
 R!8���� :��
C ���5 ���� 
� α1, α2 ∈ R ��� ω = α1ω1 + α2ω2' 9
� (<��� ��� mj ∈ Z ���
βj = αj −mj , |βj| ≤ 1

2
, j = 1, 2'  ��� ����

ω′ := ω −m1ω1 −m2ω2 = β1ω1 + β2ω2 ∈ Per f.

)�� β1 = 05 �� ����� ω′ = 0 �
�
��� �
� 	
� 8
��
*�
��' 9���� ��� β1 �= 0 ��5
�� ���� ��������� ω′ ∈ Per f \ Zωf 
�	

|ω′|2 = |β1ω1 + β2ω2|2 = (β2
1 · |τ |2 + 2β1β2 · Re τ + β2

2) · |ω2|2
≤ (β2

1 + |β1| |β2| + β2
2) · |τ |2 · |ω2|2 ≤ 3

4
|ω1|2 ,

(
�� ��� 0���3 �
������������'  �� ��� 
�� ��	
��*�
�� ;
 0∗∗3' ���� ����� ω′ = 0

�	 �
�� Per f = Zω1 + Zω25 	' �' 0)))3' ��

$� �
� V 
�� �

��
� @
������
� 	
� 
�	����
�  ��
����� n ≥ 15 ���� ;' 8'
V = Rn' $��
 �
���
��
 Ω :�� V �
�J� 
�� ������ �� V 5 (
�� 
� 
��
 R!8����
(ω1, ω2, . . . , ωn) :�� V ���� ��� Ω = Zω1 + Zω2 + . . . + Zωn' ��� �
��� 	���
(ω1, ω2, . . . , ωn) �
�� 
��
 $
��� :�� Ω' $��
  ����
��
�� 
��
� ω ∈ Ω �� 	
�
4���

ω = m1ω1 +m2ω2 + . . .+mnωn ��� m1, m2, . . . , mn ∈ Z

�
��� ��� �
�� 
��
 ��
�
����,�

���
 ��
 ω ����� ω1, ω2, . . . , ωn ",�� Z#
CQ
���� ��� ��� Ω �
�� λΩ := {λω ; ω ∈ Ω} 
�� H���
� �� V 5 ����� 0 �= λ ∈ R'
)� 4��� 0)))3 ��� 	�
 D
���	
��
��
 Per f ���� 
�� H���
� �� R!@
������
� C'
)� �������� �
� �
��� � 
�	 	�� 4
�	��
����!�
��� :
��
��
� (�� ����
	�


,����������� 3���� ������ Ω �
 C ��� 
,����������
 �
� ������� �
 C#

$�����# 4�� ρ > 0 �
� M = {ω ∈ Ω; |ω| ≤ ρ}' )�	
� ��� ���' ρ 	
��� ρ/|ω2|

��
�;�5 	��� ��� ���
 $������<��
�� Ω = Zτ + Z, τ = x + iy ∈ C, y > 05
���
��
�' )�� ω = mτ + n ∈M ��� m,n ∈ Z5 �� ����� 
��
��
��� ����
���

ρ2 ≥ |mτ + n|2 = (mx+ n)2 +m2y2 ≥ m2y2,

���� |m| ≤ ρ/y' ��	
�
��
��� ����

ρ ≥ |mx+ n| ≥ |n| − |mx|, ���� |n| ≤ ρ (1 + |x|/y) .

 ��
� ��� M 
�	����' �



�� �	
���	� ��� ����	
 1"

-�����
�+��� �3 $��
� ��	
�
� 8
(
�� 	
� 4
�	��
����!�
���� /�	
� ���
�� 	
� 8
�� :�� �"�)�
*+#�"���
 R12�IT5 ))5 15 K �5 �
� 	
� A���
 12��'
�3 ����
� 	
� 4<��
� 0))3 
�	 0)))3 ��
�� 	
� ����
�	
 ����
�
��


("�&9� �"� ��
� 8
��������� G �= {0} ��� 
�������
 ������
 (Rn,+) ��
�
/���
��
�9

0�3 G ��� �������#

0��3 :� ��,� ��
�
� �

,�0
���� &������
 c1, . . . , cr ∈ Rn , 1 ≤ r ≤ n ���
G = Zc1 + . . .+ Zcr#

$��
� $����� /�	
� ��� ;'8' �
� �' ������� R12B"T5 ��
��
� )'"'"'
�3 ��� 	
� 4
�	��
����!�
��� ��� 
��
 ���(
�	��
 8
	���
�� �� 	�
 D
��!
�	
��
��
 Per f 
��
� �����!��������
� �
�����*�
� 4
������ f �
��
�
��
�'
 ��
� ��� Per f = {0} ����
����� ��� 	
� N����
�
��
 4���O ��;
�
�
�5 -
	��� ��� 
�
�� :����
�
�	
� F
����
����� ���
 )��
�
��
' )�� 0 �= ω ∈ C5 �� ���� 
� �����

��
 ���;
 4
������ f ��� Per f = Zω' ��� (<��� 
������ f(z) = exp(2πiz/ω)'
9��� -� -�����
5 H'  ��"������ R�##�T5 ,��; 1�'7'�5 ���� 
� ;
 -
	
� ���!
;
� 4
������ f ��� Per f = Zω �
��
 
��
 �
� C\{0} �������*�
 4
������ F
��� 	
� $��
�������

f(z) = F (exp(2πiz/ω)) ��� ���
 z ∈ C.

8
:�� �� K 7 �
;
��� (��	5 	��� 
� ;
 -
	
� H���
� Ω �� C �
�� �
�����*�

4
������
� f ��� Ω = Per f ����5 ��� 
��
  ���
����� 	
� �
�	��
����
� $�!
�
�������
� :�� H���
�� �� C ����:���' 9��� 	
� 8
����
��
�� 
��
� ��	
�
�
F
����� �� � �
����
�� 	�
� �� 	
� ���������
� ! ��� �'

�9� �
�
��� :
+"�+� )� A���
 1B7" �
���<�����
 ���� .'H'A' '���&� 0���#
(���� 		5 �7?"#3 ��� 	
� 4���
5 (�
 :�
�
 N
����<����
O D
���	
� 
��
 �����!
��������
 �
�����*�
 4
������ ���
� ����5 
�	 ;
���
5 	��� 	�
�
 F��� �G���!
�
�� ;(
� ���' ,
��
 $��
�����
 ����
��
�
� (�� �� ��	
��
� ,*����
 ���

$���" %�� �
�
��� 	�� Ω ��
� �������� 8
��������� ��
 (C,+) �
� ��
�
ω1, ω2, ω3 ∈ Ω ����,�
 �


 ��,� �� m1, m2, m3 ∈ Z 
���� 
��� ���� �� �
��

m1ω1 +m2ω2 +m3ω3 = 0.

 ���� ���	 ���� -
 	�
� $�
�
��
 :�� Ω ��
� Q ���
�� ���<����' 4�� 
��
�
8
(
�� �
�
�;� ��� 	�
 �� �
�����


��
������8;����<��"����� 2� 7���� ��������
 �

+�
 2
�� N �
� 
���

ω1, ω2, ω3 ∈ C ��,� �� m1, m2, m3 ∈ Z 
���� 
��� ���� ��� ��
 :���
���
!��
%

0�3 |m1|, |m2|, |m3| ≤ N,

0��3 |m1ω1 +m2ω2 +m3ω3| < 6
√

2√
N

· max{|ω1|, |ω2|, |ω3|}'



1� �����	� �� ��������
�	 ��������	�

$�����# ��� �
�;� M := max{|ω1|, |ω2|, |ω3|} 
�	
〈m,w〉 := m1ω1 +m2ω2 +m3ω3 ��� m = (m1, m2, m3) , w = (ω1, ω2, ω3).

,����
J���� (��	 	�� ����
�*�����
�
 V
�	��� �� C ��� ����
�*
��� 0 
�	 ���!
�
��<��
 2K ��� Q(K) �
;
����
�5 ����

Q(K) := {z ∈ C ; |Re z| ≤ K , |Im z| ≤ K}'
4�� ���
 m = (m1, m2, m3)

t ∈ Z3 ���

0∗3 0 ≤ m1, m2, m3 ≤ N

���� 	���〈m,w〉 ∈ Q(T ) ��� T := 3MN '  �
 ����
� :�� Q(T ) (
�	
� �
� �� t
��
���
 �
��
 �
�
���'  ���� 
��<�� ��� 
��
 F
��
�
�� :�� Q(T ) �� t2 V
�	���

	
� ����
��<��
 2T/t'  �
 ��;��� 	
� m ∈ Z3 ��� 0∗3 ��� (N + 1)3' 9��� 	
�
!�������
���
� ,��
���������
�� ��
�
� �� 4��� (N +1)3 > t2 (
�����
�� ;(
�
D
���
 〈m′, w〉 
�	 〈m′′, w〉 �� 
��
� V
�	��� 	
� ����
��<��
 2T/t'  ����

��<�� ��� 	
���  �Q
�
�;���	
�� 
�� 0 �= m ∈ Z3 ��� 0�3 
�	

0∗∗3 〈m,w〉 ∈ Q (2T/t)5 ���� |〈m,w〉 | ≤ √
2 · 2T/t'

��� (<��� �
� 
�� t ∈ Z ��� (N + 1)3/2 > t ≥ (N + 1)3/2 − 1'  ��� ���� ����
(N + 1)3 > t2 
�	 t ≥ N3/2' �
� 0∗∗3 ����� ����� 0��3' �

F
� $����� 	
� �
���� :�� '���&� ���� 
� ���� 1013 
�� ρ > 0 ��� |ω| ≥ ρ
��� ���
 0 �= ω ∈ Ω' 4�� ����
���
�	 ���J
� N ��� 	��
� 	�
 ����
 ,
��
 :�� 0��3
��
��� 9
��' ��

�
� 	
� �
��� :�� '���&� ���� ��� �
� 
��
� �


� 8
(
�� 	
� 4
�	��
�!
���!�
���� ���
��
�'  �
�
� 8
(
�� ��� �
���	���� ����� 
����
�
�����%

)�� Ω 
��
 	����
�
 E��
���
**
 :�� C 
�	 ���	 ω1, ω2 ∈ Ω ���
�� 
����<����
��
� R5 	��� 
����� 	�� �
��� :�� '���&� ������

013 Ω ⊂ Qω1 + Qω2'

,����������� :� ��,� N ∈ N ��� ��� :���
���
!�

Ω ⊂ 1

N
(Zω1 + Zω2).

$�����# ��	
������� (��	
 
� ω ∈ Ω ���� 013 ��� �
��
��� ���J
� 9
��
��
�
�
�5 	' �'5 ��� �<��


0 �= ω′
k =

1

Nk

(rkω1 + skω2) ∈ Ω , k ∈ N5

��� ���;
� F���
� rk, sk, Nk, ggT(rk, sk, Nk) = 1 
�	 Nk → ∞ ��� k → ∞'
 � ��� ���� �		����� �

���
�
� D
���
 �
� Zω1 + Zω2 ���
 $������<��
��
0 ≤ rk , sk ≤ Nk5 ���� �
�� |ω′

k| ≤ |ω1| + |ω2| ��� ���
 k ∈ N ���
��
� 	���5
(��	
 
� 
��
 �
� *���(
��
 :
�����
	
�
� H��
	
�� �
��
�
�	
 ���:
��
��

�
������
 :�� (ω′

k)k∈N �
�
�'  � Ω 	����
� ���5 
�����
� (�� 
��
� ��	
��*�
��'�
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8
��������� 0:��' �' ��$&��	 R12B#T5 ,��; "'"'13 ��� -
	
 E��
���
**
 
��
�

�	���� 
�;

��
� ��
�
� ��
����
� H�
**
 �
���� (�
	
� ��
�' 9��� 	
� D��!
*������� ��� Ω 
��
 E��
���
**
 
��
� !����
 H�
**
5 ���� �
�� ��
�' �
�
�
Zω1 + Zω2 ⊂ Ω ��� Ω ���(
�	�� 
�� H���
�'

!� ��� ��
��� GL (2; Z)�  �
 �
��


Mat(2; Z) :=

{
U =

(
a b
c d

)
; a, b, c, d ∈ Z

}
���	
� �
��������� �
� �����;
�!�		����� 
�	 !�
���*�������� 
��
� ���� ���
$���
�
�
�� E := ( 1 0

0 1 )'  �
 H�
**
 	
� $���
��
� 	
� ����
� Mat(2; Z) �
�J�

�������
� ��
�
�� ������ ��� ��
� ; ",�� Z 
�	 (��	 ��� GL (2; Z) �
;
���!
�
�%

(1) GL (2; Z) := {U ∈ Mat(2; Z) ; 
� ���� V ∈ Mat(2; Z) ��� UV = V U = E}.
=>
�%"���&8("�&� �"� U ∈ Mat(2; Z) ��
� 0/���
��
�9
0�3 U ∈ GL (2; Z)'
0��3 detU = ±1'
0���3 U ��� �
�������,
� ",�� Q �
� U−1 ∈ Mat(2; Z)#
0�:3 ��� -,,����
� U : Z2 → Z2 , x �→ Ux ��� ,�7�����#
0:3 ��� -,,����
� U : Z2 → Z2 , x �→ Ux ��� ���7�����#

$�����#  �
 )�*��������
� 0���3⇒ 0�3 ⇒ 0�:3 ⇒ 0:3 ���	 �Q
����������'
0:3 =⇒ 0��3% $� ���� ���� u, v ∈ Z2 ��� Uu =

(
1
0

)

�	 Uv =

(
0
1

)
5 	' �' UV = E

��� V := (u, v)'  
���  
�
�������
����	
�� ����� detU · det V = 15 ���� 0��3'
0��3 =⇒ 0���3% ��� :
�(
�	
� 	�
 �
�����
  ����
��
��

U−1 =
1

detU

(
d −b
−c a

)
��� U =

(
a b
c d

)
.

�

9
�
� 	
� H�
**
 GL (2; Z) �
������
� ��� ���� 	
� 9������
��
�

0�3 SL (2; Z) := {U ∈ GL (2; Z) ; detU = 1}
:�� GL (2; Z)5 	�
 �� �
�����
 ���+����� ��
�
�� ������ ��� ��
� ; ",�� Z'
�
�
�

GL (2; Z) = SL (2; Z) ∪ SL (2; Z) ·
(

1 0
0 −1

)
��� SL (2; Z) 	
� )�	
� � �� GL (2; Z)'  �
 H�
**
� GL (2; Z) �;(' SL (2; Z)
���	 N��GJ
�O ��� ��� ;
�<���� 	
���% 4�� U = ( a b

c d ) ∈ GL (2; Z) ����� ;
�<����
±1 = detU = ad − bc5 �� 	��� ;' 8' c �
� d ������!���� ��
�' E��
�
��� ����
	��

��+/�&
�+�8$���"� ��
� c, d ∈ Z ������!���� �


 ��,� �� ��
� '
����

U =

(∗ ∗
c d

)
∈ SL (2; Z).



1B �����	� �� ��������
�	 ��������	�

<��� ��� U ,�� 
�! ��
�
 ��
���������
 �
���� ��� ���� ( 1 k
0 1 ) ��� k ∈ Z ��
������

,�������#

$�����#  � c, d �
��
���
�	 ���	5 ���� 
� a, b ∈ Z ��� ad−bc = 15 	' �'5 U = ( a b
c d )

�
�G�� ;
 SL (2; Z)' )�� V ∈ SL (2; Z) 
��
 (
��
�
 ������ ��� V = ( ∗ ∗
c d )5 	���

�����

V U−1 =

(∗ ∗
c d

)(
d −b
−c a

)
=

(∗ ∗
0 1

)
∈ SL (2; Z),

���� ���(
�	�� V U−1 = ( 1 k
0 1 ) ��� 
��
� k ∈ Z' �

-�����
�+��� �3  �� 8
��*�
� U = 2E ;
���5 	��� ��� ? �� H
�
����; ;

	
� ������
� ,��
����� ��
� 
��
� �G�*
� ? 	�
 8
	���
�� NU : Z2 → Z2 ���
��-
���:O ����� �� 	
� XM
�:��
�;!,��; �
��
��
� ����'
�3  �� $��<�;
���!�
��� 
���
�� 	�
 ������
����� :�� ;������
� 8
��*�
�
�%
 �
 �����;
�(

3 1
2 1

)
,

(
2 3
3 5

)
,

(
3 10
2 7

)
,

(
89 144
144 233

)
,

(
514 229 832 040
832 040 1 346 269

)
�
�G�
� ;' 8' ;
 SL (2; Z)'
�3  �
 $��
�����
 	�
�
� ���������� ����
� ���� �
� ����� ����� �
���� �
� n× n
�����;
� ��
�����
�' ��� :
���
���
 @'1'1 �	
� �' ������� R12B"T5 .��*' )5
�	
� �' 
�)��� R126�T5 .��*' ))'

1� -"���8$���"� ��� Ω ��
 ������ �
 C �
� (ω1, ω2) ��
� $
��� ��
 Ω# �"�
ω′

1, ω
′
2 ∈ C ���� �


9

�3 ��

� �


 ������
 ω′
1 �
� ω′

2 +� Ω ��

 �� ��
 U ∈ Mat(2; Z) ��,� ���(
ω′

1

ω′
2

)
= U

(
ω1

ω2

)
.013

�3 ��

� �


 ��� (ω′
1, ω

′
2) ��
� $
��� ��
 Ω ��

 ��� '
���� U �
 013 +�

GL (2; Z) ������#

$�����# �3 ,��	 ω′
1, ω

′
2 �
��
���
 D
���
 :�� Ω5 	��� ���� 
� a, b, c, d ∈ Z ���

ω′
1 = aω1 + bω2 , ω′

2 = cω1 + dω2,

���� (
ω′

1

ω′
2

)
= U

(
ω1

ω2

)
��� U =

(
a b
c d

)
∈ Mat(2; Z).0∗3

H��� 
��
�
��� 0∗35 �� �
�G�
� ω′
1 
�	 ω

′
2 ;
 Ω'

�3 )�� (ω′
1, ω

′
2) 
��
 8���� :�� Ω5 	��� ���� 
� �
�� 
��
 ������ V ∈ Mat(2; Z)

��� 	
� $��
�������
(

ω1

ω2

)
= V

(
ω′

1

ω′
2

)
' $� �����(

ω1

ω2

)
= V U

(
ω1

ω2

)

�	

(
ω′

1

ω′
2

)
= UV

(
ω′

1

ω′
2

)
.
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 � ��
� (ω1, ω2) 
�	 (ω′
1, ω

′
2) ��
� R ���
�� 
����<���� ���	5 ��� ��� V U =

UV = E5 ���� U ∈ GL (2; Z) ���� "013'
)�� U ∈ GL (2; Z)5 	��� ���	 (ω′

1, ω
′
2) �� 0∗3 ;
�<���� ���
�� 
����<���� ��
� R'

4�� �
��
���
 ω′′
1 , ω

′′
2 ∈ Ω ���� 
� ������ 
�� W ∈ Mat(2; Z) ���(

ω′′
1

ω′′
2

)
= W

(
ω1

ω2

)
, ����

(
ω′′

1

ω′′
2

)
= WU−1

(
ω′

1

ω′
2

)
.

 ���� ���	 ω′′
1 , ω

′′
2 -
(
��� ���
�������������
� :�� ω

′
1, ω

′
2 ��
� Z' ���� ��� ω′

1, ω
′
2


��
 8���� :�� Ω' �

........
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.........
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........
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........
........
........
........
........
........
........
.........
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........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
...

........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
...

........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
...

........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
........
...

•
•ω′

1

•
ω′

2

•ω′
1+ω′

2

•ω1

•ω2

............
............
............
............
............
............
............
................

...............
................

...............
................

...............
................

...............
................

...............
................

...............
................

...............
...............................................................................................................................................................................................................................................................................................................................

...
.....
....
.....
....
.
..
.
..
.
..
.
..
.
..
.
..
..
..
.
..
.
..
.
..
.
..
..
..
..
..
.
..
.
..
.
..
..
..
..
..
.
..
.
..
.
..
.
..
..
..
.
..
.
..
.
..
.
..
..
..
.
..
.
..
.
..
.
..
..
..
.
..
.
..
.
..
.
..
..
..
..
..
.
..
.
..
.
..
..
..
..
..
.
..
.
..
.
..
.
..
..
..
.
..
.
..
.
..
.
..
.
...
....
.....
....
....
..

���' I% H�
�	�����
�

•0

◦ω1

◦ω2

•
u

◦ω1 + ω2

◦
u+ ω1

◦u+ ω2

◦u+ ω1 + ω2

�(ω1, ω2)

�(u;ω1, ω2)

.........................................................................................................................................................................................................................................................................................................................
.................................

.................................
..................................

.................................
.................................

..................................
.................................

.................................
..........................

.......................................................................................................................................................................................................................................................................................................................
.................................

.................................
.................................

..................................
.................................

.................................
.................................

.................................
.........................

.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
...
................................................................................................................................................................

.....

.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
.....
...
................................................................................................................................................................

���' "% D
���	
�*�����
�������


$� �
� Ω 
�� H���
� �� C 
�	 (ω1, ω2) 
��
 8���� :�� Ω' 4�� u ∈ C 	
/��
�� ���
	�� �������
�
�
�������
�� 0�
;������ ω1, ω2 ��� $
�����
�� u3 	
���

0�3 �(u;ω1, ω2) := {u+ α1ω1 + α2ω2 ; 0 ≤ α1 < 1 , 0 ≤ α2 < 1}'
)� 4��� u = 0 ����
��� ��� �
��

073 �(ω1, ω2) := �(0;ω1, ω2) = {α1ω1 + α2ω2 ; 0 ≤ α1 < 1 , 0 ≤ α2 < 1}

�	 �
��� �(ω1, ω2) �
�� 
��
 ���
��
���� 	
� H���
��' A
	
� D
���	
�*����!
�
������� P := �(u;ω1, ω2) ��� 
�� ��
�
��
�
�,������ :�� C �
;������ Ω ��
����
�	
� ,���
%

,���������� ;� 2� 7���� z ∈ C ��,� �� ��

� ��
 ω ∈ Ω ��� z + ω ∈ P #
������
 �
�,���
���� z �
� z + ω , ω ∈ Ω +� P  �


 ���� ω = 0#

$�����# ��� (<��
 ξ1, ξ2 ∈ R ��� z − u = ξ1ω1 + ξ2ω2 
�	 �
	
;�
�
 ξ1 
�	 ξ2
��	
�� 1' �

9�������� ���� 
� ;
 -
	
� H���
� :�
�
 D
���	
�*�����
�������
5 
� ���� ��
�
	�




�# �����	� �� ��������
�	 ��������	�

,���������� -� ��� �����
�
�.������������ ��0��� ��
�� ,����,���
 �������
.
�
�
�������
��� P = �(u;ω1, ω2) ��� ������

vol Ω := |Im (ω1ω2)|'
��� ��� �

,�0
��� ��
 ��� (
�� ��� $
��� (ω1, ω2) ��
 Ω �
� ��� $
�����
����
u#

$�����#  �
 
�
�
����!�
��
������
 4�<��
 	
� D�����
�������� P ��� �� 

���!
	����
� ����	����
� ;
�<���� �
�
�
� 	
��� 0:��'�� ������� R1226T5 )@'1'�3

F :=

∣∣∣∣det

(
Reω1 Reω2

Im ω1 Im ω2

)∣∣∣∣ .
$��
 @
��/������ 
����� F = |Im (ω1ω2)|' )�� �
� ω′

1 = aω1+bω2 , ω
′
2 = cω1+dω2

��� a, b, c, d ∈ Z , ad − bc = ±15 
��
 (
��
�
 8���� :�� Ω ���� 	
� 8����!
�
���5 �� �����

F ′ = |Im (ω′
1ω

′
2)| = |Im (adω1ω2 + bcω2ω1)| = |ad− bc| · |Im (ω1ω2)|,

���� F ′ = F ' �

�� ��� �"����+�
��� C/Ω� $� �
� Ω 
��
 E��
���
**
 :�� (C,+)' ��� 
���<��

��
 XM
�:��
�;�
������ �
� C 	
���

013 a ≡ b (mod Ω) ⇐⇒ a− b ∈ Ω'

 �
 XM
�:��
�;�����
� �G��
� 	��� �� 	
� 4��� a + Ω , a ∈ C5 �
�����
�
�
(
�	
�' ��� ��
����
 E��
���
**
 :�� (C,+) ��� Ω 
�� 9������
��
� :�� C'  �

4�������
**
 (��	 ���

0�3 C/Ω := {a+ Ω ; a ∈ C}
���
���;� 
�	 	�
 ���������
 D��-
����� ��� π �
;
����
�%

073 π : C −→ C/Ω , π(a) := a + Ω'

)�� Ω 
�� H���
� �� C5 	��� ��� ���� D��*������� �� ��� -
	
� �
��
���
 D
��!
�	
�*�����
������� P = �(u;ω1, ω2) 	�
 $������<��
��

0I3 π|P : P −→ C/Ω ��-
���:'

8
��������� ��� 	�
 �		����� �� C/Ω 	
���

0"3 (a + Ω) + (b+ Ω) := (a + b) + Ω

�
�
�
�'  ���� ��� C/Ω 
��
 ��
����
 H�
**
 ��� 9
��
�
�
�� Ω' )�	
;�
�� ���
	�
 ��*�����
 :�� C ��� 	
� ���������
� D��-
����� 073 ���� C/Ω5 �
������
�
��� ���� C/Ω ��� 	
� V
���
��
���*�����
5 �� (��	 C/Ω ;
 
��
� ���*���
�
��*��������
� ��
�'  ��
� �
�J� 	
/��������
�<J 
��
 �
���
��
 A :�� C/Ω
�Q
�5 (
�� π−1(A) �Q
� �� C ���' �
�
� 0I3 ���� ��� ���� C/Ω ��� =����



�� �	
���	� ��� ����	
 �1

�� R3 :����
��
�' ��� ��� 	�;
 �
	������ 	�
 �
�
���
���
�
�	
� ,
��
� 
��
�
D
���	
�*�����
�������� ;
 �	
���/;�
�
�'

-�����
�+� ��� 8
�
��
�� 7� ��
�� ���5 	��� 
��
 	����
�
 E��
���
**
 Ω
:�� (C,+) �
��
 	��� 
�� H���
� ���5 (
�� 	�
 4�������
**
 C/Ω ���*��� ���'
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.........
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........
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.........
.........
.........
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...........

.............
........................................................................................................................................................................................................................................
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..........
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...............

.....................
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................................................................................................................................................................................................∨

.........................................................................................................................................................................................
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..............
............
..........
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.........
........
........
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.........
.........
..........
...........

............
...............

.....................
..................................................................................................................................................................................... ......................................................................................................
................

................
..............
.................................................................................

���' �%  
� ���
� C/Ω

2� -�����
�+�� ?*�� ��
��"	
 
������	
� #��
����
������
5 ���� ;' 8'
n!���� 
�
�	����
 �
��
� ����
��� ��� �
��� �� 	
� ����
�
��
� 4���∑

g∈Zn

αg ��� αg ∈ C013


�	 �
���	
�� ��� n > 1 �
� 	
� 4��� �����
�
� ���:
��
�;'  �
 �
��
 013 �
�J

,����� ��
�����
�5 (
�� 
� 
�� C > 0 ���� ��� 	
� $��
�������

∑
g∈E |αg| < C

��� 7��� 
�	����
 �
���
��
 E :�� Zn' 4�� -
	
 8�-
����� ϕ : N → Zn ��� 	���
	�
 �
��


∑
k∈N αϕ(k) �����
� ���:
��
�� 
�	 	
� H�
�;(
��5 	
� ���

∑
g∈Zn αg

�
�����
�
� (��	5 �<��� ���� 	
� E���	�
������; 0:��' �' -�����
5 H'
 ��"������ R�##�T5 ,��; #'I'73 ����� :�� 	
� ��;<��
�� ϕ ��' ��� ��� 	����
�
�� 	
�

("�&� :�
� 
,����� ��
�����
�� 4���� �
�! ,����,�� �������
�� �����
#

�� ��������%"��"����� ,
� Ω 
�� H���
� �� C ��� 
��
� 8���� (ω1, ω2)'  ���
���

013 δ := δ(ω1, ω2) := sup{|z − w| ; z, w ∈ �(ω1, ω2)}
	
� ����������� 	
� ;
�
�G���
� H�
�	�����
' 4�� ρ > 0 �
� Aρ(Ω) 	�
 ��;���
	
� H���
�*
���
 �� ���
�������
�
� ��
�� 
� 0 ��� ��	�
� ρ5 ����

Aρ(Ω) := �{ω ∈ Ω ; |ω| ≤ ρ} .

("�&� �"� 
��� ρ ≥ δ ����

π

vol Ω
(ρ− δ)2 ≤ Aρ(Ω) ≤ π

vol Ω
(ρ+ δ)2 .



�� �����	� �� ��������
�	 ��������	�

$�����# ��� :
���
���� 	�
 �
��
�

Kρ := {z ∈ C ; |z| ≤ ρ} 
�	 Mρ :=
⋃

ω∈Ω,|ω|≤ρ

�(ω;ω1, ω2) .

�
� 	
�  
/������ :�� δ �����

Kρ−δ ⊂Mρ ⊂ Kρ+δ .

 
� =�
����� ;
� 4�<��
 ��
�
�� 	�
 8
��
*�
��5 	
�� 
� ����

4�<��
 Kρ = πρ2 
�	 4�<��
Mρ = vol Ω · Aρ(Ω) . �

 ���� 
�����
� (�� 	��

.��%��+��&8$���"� ��� 4���� ∑
0�=ω∈Ω

|ω|−α

��
�������� ��

� �


 ��

 α > 2#

$�����# ,
� ;
�<���� α > 2 
�	 ∅ �= E ⊂ Ω \ {0} 
�	���� ��(�
 M :=
max{|ω| ; ω ∈ E}' �
� 	
� ,��; 
��<�� ��� 
�� c2 > 0 ���

An+1(Ω) −An(Ω) ≤ π

vol Ω
· [(n+ 1 + δ)2 − (n− δ)2] ≤ c2n

��� ���
 n ≥ δ' ���
c1 :=

∑
0�=ω∈Ω,|ω|≤δ+1

|ω|−α


����� ���� 0:��'�� ���
�� R1226S )T5 "'1#3

∑
ω∈E

|ω|−α ≤ c1+
∑

n∈N,δ<n<M

(An+1(Ω)−An(Ω))n−α ≤ c1+c2

∞∑
n=1

n1−α =: C <∞ .

���:���
�(
��
 	�:
���
�� 	�
 �
��
 ��� α ≤ 0' ,
� 0 < α ≤ 2 
�	 N ∈ N, N > 2δ'
�
� 	
� ,��; 
��<�� ��� 
�� c3 > 0 ���

AkN(Ω) −A(k−1)N (Ω) ≥ π

vol(Ω)
· [(kN − δ)2 − ((k − 1)N + δ)2

] ≥ c3k

��� ���
 k ∈ Z, k ≥ 2' ,
� En = {ω ∈ Ω ; 0 < |ω| ≤ nN}'  ��� ����
∑
ω∈En

|ω|−α ≥
n∑

k=2

(AkN(Ω) −A(k−1)N (Ω)) · (kN)−α ≥ c3N
−α ·

n∑
k=2

k1−α .

�
�� 	�
 �
��

∑

k>1 k
1−α ��� α ≤ 2 	�:
���
�� 0:��' �� ���
�� R1226S )T5

"'1#35 	�:
���
�� �
��
∑

0�=ω∈Ω |ω|−α ��� α ≤ 2' �
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���	� ��� ����	
 �7

$��
 ��	
�
 @
����� 	�
�
� ���:
��
�;!�
���� /�	
� ��� �� )))'�'1'

 ���� ���	 	�
 �� �
�����
� ������
���.4����


Gk := Gk(Ω) :=
∑

0�=ω∈Ω

ω−k ��� k ∈ Z, k ≥ 30�3

�����
� ���:
��
��'  � ��� ω �
�� −ω ;
 Ω �
�G��5 
��<�� ��� ��� 
��
�
E���	�
�� (
�
� ,��; B ������ Gk = (−1)k ·Gk5 ���� 	�


,����������� :� ���� Gk(Ω) = 0 !"� �
���
��� k ≥ 3#

F
�<���� ���� ��� ����� �
������
J
�5 	��� 
��� Gk ��
��� 9
�� ���	5 (
�� 	��
�
�� 	
� 
��
����
�
� �
�
� (��� (
�	
�� (��	
' ��� (
�	
� 
��� �� ,��; I'�
�
�
�5 	��� ���
 Gk , k ≥ 4 �
��	
5 �' �' :�� 9
�� :
�����
	
� ���	'

$� �
�G�� ;
 	
� ���;���
�
�	
� $��
�����
� 	
� ���� ;
 
��(���
��	
� ��
���

	
� 
���*�����
� 4
������
�5 	��� 	�
�
 ������
���!�
��
� D������
 ��
� Q
�� G4 
�	 G6 ���	 0:��' �������� 7'7$3' F
� 8
��*�
� ���� 7G8 = 3G2

4 
�	
11G10 = 5G4G6'  �
� ��
�� �� �������
 ;
 �
�����
� $��
�����
� ��
� 	�

-���������� 2��
!�
����


ζ(s) :=

∞∑
n=1

n−s , s ∈ R, s > 1.

8
������
� ��� �<����� ����� 
��
� H���
�� Ω 
��
 E��
���
**
 N:�� ���� 1O 5
���� ;' 8' Ω = Z5 	��� 
��<�� ��� �� ,�
��
 :�� 0�3 	�
 H���
���:������
� Fk :=
2ζ(k) , k ≥ 2 �
��	
5 	�
 ���� �' �"��� �
��������� ��������
 @�
�����
 :�� πk

���	5 ���� ���� ��� �����
 �� F2 ����
��
� ����
�%

5F4 = F 2
2 , 35F6 = 2F 3

2 .

��� :
���
���
 ��
�;
 �� ������� R12B6T5 @'"'"'

��������	 �� 3�� 0 �= ω ∈ C�

� 5� ���� ��	� !���� (fn)n∈N ��	 ��	�
� �	
��/	����	 �
	*�	 !�	&���	�	 ��� 9������	��	(
��	 Per fn ⊃ Zω�
�� :�� 1�	�� ��� �
	*�	 !�	&���	�	 f ��� Per f ⊃ Zω ��� ��	 8�	�" ��� *�� 8�	� ��� ����(
��� ��	 !�	&���	�	 
�� C\{0} ������ � ����
�� 3�� Ω = Zω1 + Zω2 ��	 +����� �	 C� !)� ω = m1ω1 +m2ω2 ∈ Ω ��	� /;���
��	�<
��� 5� ���� ��	 ω′ ∈ Ω ��� Ω = Zω + Zω′�
���� m1 �	� m2 ��	� ������������
����� 0�� n ∈ Z , n > 1" �� ���� 1

nω /∈ Ω�
=� 1
	 �������� m1,m2,m3 ∈ Z" 	���� 
��� 2���" �� �
��

�∗� |m1

√
2 +m2(

√
3 + i

√
5) +m3i

√
7| < 1

�	� m2
1 +m2

2 +m2
3 ��	��
� �	��� ��� ����	��	� �∗� ����


� 3�� K = Q(
√
d) , d < 0 ;�
��
�����" ��	 ��
��	/�(;�
��
������� '
��&,� �� ��� :��&��(

��	
	�� D �	� Ω ��� 8�	� ��� �
	*�	 '
���	" �� �� Ω = Z + Z1+
√

d
2 , D = d" �
��� d ≡ 1

(mod 4)" �	� ��	�� Ω = Z + Z
√
d , D = 4d� :
		 ��� Ω ��	 +����� �	 C �	� ��� !�/��� ��	��

9������	 
�
�������
��� ��� 1
2

√|D|�



�I �����	� �� ��������
�	 ��������	�

>� SL (2; Z) #��� ��*���� ��	 ��	 1
���*�	 ( 1 0
1 1 ) �	� ( 1 1

0 1 )�
?� 3�� Ω = Zω1 + Zω2 ��	 +����� �	 C �	� δ ��� :���������� @���� :
		 ����

δ(ω1, ω2) = max{|ω1 + ω2|, |ω1 − ω2|}.
�� 3�� Ω = Zω1 + Zω2 ��	 +����� �	 C ��� τ := ω1/ω2 ∈ C \ R , |τ | ≥ 1" |Re τ | ≤ 1

2 ����� 
��
:
		 ����

δ(ω1, ω2) ≤ δ(ω′
1, ω

′
2) �)� 7��� �
��� (ω′

1, ω
′
2) ��	 Ω.

�� 3�� Ω ��	 +����� �	 C �	� C ∈ R� :
		 ���� �� ��	� �
��� ω1, ω2 ��	 Ω ��� δ(ω1, ω2) > C�
@� 3���	 a, b ∈ R �����  ������� !)� ρ > 0 ���

e(ρ) := �
{
(x, y) ∈ Z × Z ;

(
x
a

)2 +
(

y
b

)2 ≤ ρ
}

��� $	*
�� ��� �
	*�	 9�	&�� �		���
�� ��� 5��� ��� :
		 ���� �� ��	 c > 0" �� �
��

|e(ρ) − abπρ2| ≤ cρ �)� 
��� ρ ≥ 1�

��� 5�	 
	����� ��#��� ��� 6�	�����	*(A���
� @ ����/��� #�� �����<
��� 5� ��	)��" �
� +����� Ω = Zi+ Z *� ����
����	�
���� 3�� α > 1� :
		 ���� �� 0 < c′ < c" �� �
�� �)� 
��� 0 �= m ∈ Z ����<

c′ · |m|1−α ≤
∑
n∈Z

(m2 + n2)−α/2 ≤ c · |m|1−α.

����� 1
	 ������� ��� ���
� ��	� ��� 6�	�����	*(A���
� 
�� ��� �	� �����
��� 3�� Ω = Zω1 + Zω2 ��	 +����� �	 C� :
		 ���� �)� α > 2∑

0�=ω∈Ω

|ω|−α =
∑

0�=g∈Z2

(gtSg)−α/2 , S =
( |ω1|2 Re (ω1ω2)

Re (ω1ω2) |ω2|2
)
.

��� 3�� k ∈ Z , k > 2� 5� ���� Gk(Ω) = 0" �
��� Ω = Zi + Z �	� k �≡ 0(mod 4) ���� Ω =
Z1

2 (1 + i
√

3) + Z �	� k �≡ 0(mod 6)�

��� ��� ������ ��� ���	��	����
 ��
 �	�
�


8���
� ��� 
� ��
���
*� ����� ����5 �� 
� ;
 
��
� �
�
�
�
� H���
� Ω �� C�
��!
���*�
 4
������
� f ���� ��� Per f = Ω 0:��' 8
�
��
�� 1'7�3' E��
� 	
� ��!
����
 	
� $����
�; 
��
� �

���
�
� �����
� 4
������ �
����� ��
������
�	
�!
(
��
 ����� 	�
 8
����
��
�� ���
� 	
������
� 4
������
�'  
� $����
�;!8
(
��
(��	 	��� �� K 7 �����
��
�
��'

)� 	�
�
� D�������
� �
� Ω = Zω1 + Zω2 ��
�� 
�� H���
� �� C'

�� ����� ��+���	
"���� ��������	
�� �
��������� $��
 �
�����*�
 4
��!
���� f �
� C �
�J� ���������� �	
� �������*���������� �
;������ Ω5 (
�� Ω ��
	
� �
��
 Per f 	
� D
���	
� :�� f 0:��' 1'�3 
������
� ���% Ω ⊂ Per f '  ��
�
	

�
� ����

013 Df + ω = Df ��� ���
 ω ∈ Ω5

0�3 f(z + ω) = f(z) ��� ���
 ω ∈ Ω 
�	 z ∈ C \Df '
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�	
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 	�������
�	� ��������	� �"

)��
�*�
��
�� ��� ��
� 0�3 	
����5 	��� 	�
 H�
���
�� ��� ���
 z 
�	 ω �
��
�
�G�
5 ��� (
���
 �
�	
 ,
��
� ����:��� ���	5 �� ��� 013 
��
 4���
 :�� 0�3'  �

8
	���
��
� 013 
�	 0�3 ���	 ����
� 
������5 (
�� ��
 ��� 
��
 8���� :�� Ω �������
���	' $� �
;
����
 K(Ω) 	�
 �
��
 	
� �
;������ Ω 
���*�����
� 4
������
�'

4�� 0 �= f ∈ M 
�	 c ∈ C ��� ��� �
��������� 0�' -�����
5 H'  ��"���
���� R�##�T5 1�'1'73 
��
 %�"���
?:
�������
� 	
� 4���

f(z) =
∑
n≥m

an(z − c)n , am �= 0, m ∈ Z,

	�
 �� 
��
� *
����
��
� E��
�
�� :�� c ������5 �*
;�
�� ���� �����!��
����<J��
���:
���
��' ��
� ���	 	�
 )��
�
� ��
 f �
 c (�
 �� 1'1073 	
��� ordc f := m

�	 	�� 4������� ��
 f �
 c 	
��� rescf := a−1 
���<��'

4�� f ∈ K(Ω)5 ω ∈ Ω 
�	 z �
� 
��
� �

���
�
� E��
�
�� :�� c + ω ���
���

f(z) = f(z − ω) =
∑
n≥m

an(z − [c+ ω])n


�	 
� ����� 	��
�

073 ordc+ω f = ordc f ��(�
 resc+ωf = rescf '

 ���� ��� �*
;�
�� ��� c �
�� c+ω , ω ∈ Ω5 
�� D�� 0�;(' 
��
 9
����
��
 �	
� 
��

w!,�
��
3 :�� f ∈ K(Ω)'  � ���� 	�
 D��
 �� ���*���
� �
��
� ����� �<
�
�
�G��
�5 ��� ��� ;
����
��
����� 	�


,�������������� �����������
 ��
����
�
 K(Ω) ,�+"����� Ω ,����
 ��
�
 8
���.
������ ��� 1������ M 
���� ����������
 ��
����
�
 
�! C ��� ��� ��
��

��

��
����
�
 �
��0��# 3���� f ∈ K(Ω) �
� �
 7���� �������
�
�
�������
�� 
��
�
����� ����� ����#

$�� 8���� �
� 013 
�	 0�3 
����� 	�� 
������
5 ��
� (������


$���"� '�� f(z) ������
 
���

f ′(z) �
� g(z) := f(nz + w) ��� 0 �= n ∈ Z , w ∈ C �
��,

;
 K(Ω)'

 � ��� %��� (/�&� %�� ��
������� )� A���
 1BI6 �
�
���
 A' %��"�����
01B#2?1BB�35 	��� ��� 
���*�����
 4
������
� 
��
�����
5 ;
�<���� ����� 
��
��!
���
 $������<��
��
� �
��
� 0A' �
��
 ���
(' ����' 225 �66?71# 01BB#33%

("�& ;� 	�� f ∈ K(Ω) ��������� �


 ��� f ��
��

�#

$�����# ,
� P 
�� D
���	
�*�����
�������'  � 	
� ������
�� :�� P ���*���
���5 ���� 
� 
�� C > 0 ��� |f(z)| ≤ C ��� z ∈ P ' )�� z ∈ C �
��
���5 �� ���� 
�
���� D��*������� 1'�� 
�� ω ∈ Ω ��� z + ω ∈ P '  ���� �����

|f(z)| = |f(z + ω)| ≤ C,



�� �����	� �� ��������
�	 ��������	�

�� 	��� f �
� C �
����<��� ���' 9��� 	
� ���������
� ,��; :�� %��"����� 0�'
-�����
5 H'  ��"������ R�##�T5 ,��; B'7'"3 ��� f ��������' �

("�& -� 	�� f ∈ K(Ω) �
� P ��
 �������
�
�
�������
�� �


 ����∑
c∈P

rescf = 0.013

$�����# �
�
� 1073 
�	 D��*�������
1'�� ��� 	�
 ,
��
 013 
�	���� 
�	

����<���� :�� 	
� ���� :�� P ' ,
�
���� u �� �
(<���5 	��� �
� 	
� ���	
∂P :�� P �
��
 ,���
�����<�
� ��
!
�
�'
��� ���
���
�� �
� f ��
� 	
� ���	
∂P ' 9��� 	
� �
��	

����; ����
	���

•
•

•
•
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u+ ω2

u+ ω1+ ω2
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............
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...............

���' 6% )��
��������(
�

± 2πi
∑
c∈P

rescf =

u+ω1∫
u

f(z) dz +

u+ω1+ω2∫
u+ω1

f(z) dz +

u+ω2∫
u+ω1+ω2

f(z) dz +

u∫
u+ω2

f(z) dz

=

u+ω1∫
u

(f(z) − f(z + ω2))dz +

u∫
u+ω2

(f(z) − f(z + ω1))dz .

�
�
� f ∈ K(Ω) ��� 	�
 �
���
 ,
��
 ��
� 9
��' �

("�& 6� 	�� f ∈ K(Ω) 
���� ��
��

� �
� P ��
 �������
�
�
�������
�� �



���� !"� 7���� w ∈ C ∑

c∈P

ordc(f − w) = 0,0�3

�# �# ��

 �

 ��� ��
 �
��������
��
 &���!
�������
 +0��� ���

-
+
�� ��� ���� ��
 f = -
+
�� ��� w.������
 ��
 f

= -
+
�� ��� ����������
 ��
 f

�
 P # ���+���� 
���� 7���� 
����.��
��

�� f ∈ K(Ω) �
 P 7���
 (��� 

#

$�����# 9��� �
��� 1 ���

g(z) :=
f ′(z)

f(z) − w

(�
	
� 
��
 
���*�����
 4
������ �
;������ Ω 
�	 
� ���� rescg = ordc(f − w)'
 ���� ����� 	�
 8
��
*�
�� �
� ,��; 8' �
�� f ����� �������� ���5 �
���;� f−w
���� 0�3 
��
 9
����
��
 �� P 5 	� f −w ���� ,��; � 
�	 1073 ���	
��
�� 
��
�
D�� �� P ���' �



�� �	
 ��
�	
 �	
 	�������
�	� ��������	� �6

("�& �� 	�� 0 �= f ∈ K(Ω) �
� P ��
 �������
�
�
�������
�� �� ����∑
c∈P

(ordc f) · c ∈ Ω.073

$�����# ��� (
�	
� 	�
 �� ,��; 8 �
�
�;�
 �
���	
 �� �
� 	�� )��
����

2πi
∑
c∈P

(ordc f) · c =

∫
∂P

z · f
′(z)
f(z)

dz

= ±
( u+ω1∫

u

z
f ′(z)
f(z)

− (z + ω2)
f ′(z + ω2)

f(z + ω2)
dz +

u∫
u+ω2

z
f ′(z)
f(z)

− (z + ω1)
f ′(z + ω1)

f(z + ω1)
dz

)

= ±
(
ω1

u+ω2∫
u

f ′(z)
f(z)

dz − ω2

u+ω1∫
u

f ′(z)
f(z)

dz

)
.

�
�
� f(u) = f(u+ ωj) ����

u+ωj∫
u

f ′(z)
f(z)

dz ∈ 2πiZ ��� j = 1, 2,

���� 073' �

9��� ,��; 8 ���� 
� �
��
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� D�� 1' C�	�
��
�� P ' $��(
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�� ��� ���� (
�����
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� D��
 1' C�	�
�� �	
� 
��
�
D�� �' C�	�
�� ��� �
��	

� 9
�� ;
����
�' 8
�	
 �
�
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�	
� :�� �'�'�'
������
���� �
�������
�5 (�� �
������
� ;
�<���� �
� 	
� ;(
��
� 4���'

F<��� ��� 	�
 9
��! 
�	 D����
��
� 
��
� �����!��������
� f ∈ K(Ω) ��� 	
�
@�
������
��
�5 	��� ���� 
� ���� ,��; . D
���
 a1, . . . , ar 
�	 b1, . . . , br �
�
P 5 �� 	��� f �
��
 �� a1, . . . , ar 9
����
��
� 
�	 �
��
 �� b1, . . . , br D��
 ���'
 ��
� (��	 	�
 @�
������
�� -
(
��� 	
��� 	�
 ��;��� 	
� ��
	
����
��
� 	
�
D
���
 ���
�
�
�'  ���� ����
��� ���� 	�
 �
����
 :�� ,��;  ��� 1'6013 ��
	
� 4���

0I3 a1 + · · · + ar ≡ b1 + · · ·+ br (mod Ω)'

 �
�
 �
������ (�� 9'�' �&�� �
�
��� 1B�� �
����� 05����� �����6��� 	5 1I"?
�113' 9��� 
��
� @�������� :�� '���&� �
�J� 0I3 	��
� �
�� �&������ 4��
.
���
# ��� �
��� r 	�
 )��
�
� 	
� 
���*�����
� 4
������ f '  �
 ,<�;
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�	 0I3 �
�� ����
���
�	 ��� 	�
 $����
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���*�����
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������ ���
:���
�
�
�
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��! 
�	 D����
��
� ���	'
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%��"��������
� ,<�;
 ���
(
�	
�P

�<�����&8("�&� :� ��,� ��
� ����������� ��
����
 ℘ = ℘Ω ��� ��

� �
 7����
��������
�� ��
 Ω ��
�
 ��� �' )��
�
� �
� �
� ��
�� ��������� ���# 	���
%�"���
.4���� ,�� 0 �
� ��� ����

013 ℘(z) = z−2 + a1z + . . .'
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�
� ,��; ��
��� ℘ ��� 
���*�����
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������ 	
��� 013 
��	

��� �
������' ��� �
��� ℘ 	�

������
�������
 ℘?��
����
 0;
� H���
� Ω3'

,����������� �3 ℘ ��� ��
� ���
�� ��
����
 �# �# ℘(−z) = ℘(z)# :� ���� a1 = 0
�
 013'
�3 ℘ ′ ��� ��
� �
���
�� ��
����
 ��� ��

� 

 
���
 ��������
���
 ��
 Ω ����
7' )��
�
� �
� �
� ��
�� ��������� ���#

$�����# �3  �
 
���*�����
 4
������ f(z) := ℘(−z) − ℘(z) ��� ���� 013 �� 0 
�	
	��
� ��
���� �������*�' 9��� ,��; �� ��� f �������� 
�	 ����� 0 ���� 013'
�3  �
 8
��
*�
�� ����� �
� �3 
�	 	
� $����
�;!,��;' �

 ���� �G��
� (�� ����� ���
 9
����
��
� :�� ℘ ′ ���
�
�'

$���" ;� 	�� ω ∈ Ω 
,�� ω/2 /∈ Ω �


 ��� ω/2 ��
� ��
!
��� ���������� ��

℘ ′# 3��� ���������� ��
 ℘ ′ �
� ��������� ����� ����#

$�����#  � ℘ ′ 
��
 
��
��	
 
���*�����
 4
������ ���5 ��� ���

℘ ′(z + ω) = ℘ ′(z) = −℘ ′(−z).
)�� ω/2 �
�� D�� :�� ℘ 
�	 ℘ ′5 	' �' ω/2 /∈ Ω5 	��� 	��� ��� z = −ω/2 �
�;
�

�	 
��<��

℘ ′(ω/2) = −℘ ′(ω/2), ���� ℘ ′(ω/2) = 0.

,
� ω1, ω2 
��
 8���� :�� Ω' )� D
���	
�*�����
������� P = �(ω1, ω2) ��� ℘ ′

	��� 	�
 9
����
��
�

0∗3 ω1/2 , ω2/2 , (ω1 + ω2)/2 .

9��� 013 ��� ℘ ′ �� P �
� 
��
� D�� 7' C�	�
�� �
� 0' H
�<J ,��; �. ��� 	�

��;��� ���
� 9
����
��
� :�� ℘ ′ �� P 0�
;<��� ��� ���
� @�
������
��
�3 ��
��� 3'
 �
 9
����
��
� 0∗3 ���	 	��
� 
������ 
�	 
� ���	 ���
 9
����
��
� :�� ℘ ′ �� P '
)�� �
� z 
��
 �
��
���
 9
����
��
 :�� ℘ ′5 �� 
�����
�� 
�� ω′ ∈ Ω ��� z−ω′ ∈ P '
 ��� ��� ��
� z − ω′ 
��
� 	
� D
���
 0∗3 
�	 ����� z :�� 	
� 4��� ω/2 ���
ω ∈ Ω5 ��
� ω/2 /∈ Ω' �



�� �	
 ��
�	
 �	
 	�������
�	� ��������	� �2

��� �
��	
 4
������ ��� ℘ ��� u �
�� −u ��� 9
����
��
' ����
�
�� ���� 	��
$���" -� :� ��� P ��
 �������
�
�
�������
��# 2� w ∈ C5

0�3 w �= ℘(ω/2) , ω ∈ Ω , ω/2 /∈ Ω5

��,� �� ��

� +��� ����������
� ��
��� u, v ∈ P ��� ℘(u) = ℘(v) = w# 	

������ �
�� ���� u + v ∈ Ω# ��,� �� ��������� +��� ����������
� u, v ∈ P ���
℘(u) = ℘(v) = w �� ���� 0�3'

$�����# ��� (
�	
� ,��; �. �
� ℘ ��' 9��� 013 ��� 	�
 ��;��� 	
� w!,�
��
�
:�� ℘ �� P 0�
;<��� ��� ���
� @�
������
��
�3 ��
��� 2' ��� 
��
����
�	
� 	�

�
�	
� 4<��
%
�3 $� ���� �
� 
�� u ∈ P ��� ℘(u) = w'  ��� ��� u 
��
 	�**
��
 w!,�
��
 :�� ℘

�	 
� ����� ℘ ′(u) = 0' �
�
� 0�3 ��� 	�
�
� 4��� ���� �
��� � �
��
�������
�'
�3 $� ���� ;(
� :
�����
	
�
 u, v ∈ P ��� ℘(u) = ℘(v) = w' �
� ,��; � �����
	��� ����
��� u+ v ∈ Ω' �

��� (<��� -
�;� 
��
 8���� ω1, ω2 :�� Ω5 �
�;� P := �(ω1, ω2) 
�	 �
�
�;� 	�

,���	��	!8
;
����
��

ek := ℘(ωk/2) , k = 1, 2, 3 ��� ω3 := ω1 + ω2.073

9��� �
��� � 
�	 8 ��� 	���

0I3 ℘(z) − ek �
��
 
��
 	�**
��
 9
����
��
 �� P 5 �<����� �� z = ωk/2

��� k = 1, 2, 3 
�	

0"3 ℘(z) − w ;(
� 
������
 9
����
��
� �� P ��� w �= e1, e2, e3'

�
�� ω1/2, ω2/2, ω3/2 *���(
��
 :
�����
	
� ���	5 ���	 ���� 0I3 �
��

0�3 e1, e2, e3 *���(
��
 :
�����
	
�'

 �
�
 $��
�����
 ����
� �
�
��� ;
� 
���
�  �Q
�
�������
���
�� ��� ℘%

("�&� �"� 
��� z ∈ C \ Ω ����

℘ ′2(z) = 4 · (℘(z) − e1) · (℘(z) − e2) · (℘(z) − e3)'

$�����# ��� �
������
� �
�
� ℘ ′2 	�
 
���*�����
 4
������

f(z) := 4 · (℘(z) − e1) · (℘(z) − e2) · (℘(z) − e3)'

9��� 0I3 ��� f �� P 9
����
��
� 0
�	 ;(�� 	�**
��
3 �
��
 �� 	
� ,�
��
�

ω1/2 , ω2/2 , ω3/2 = (ω1 + ω2)/2.

9��� �
��� � ���� 	�
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���
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����
 ��� ℘ ′2'  � ���� 	�
 D��
 �� f �����
(
��
�
� �G��
�5 ��� f �� P �
� 
��
� D�� �� 0 
�	 ;(�� 	
� C�	�
�� �'
�
�
� 013 ���� ��
�
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0∗3 ℘(z) = z−2 + . . . , ℘ ′(z) = −2z−3 + . . . , ℘ ′2(z) = 4z−6 + . . .


�	 	��
� ��� �
�� ℘ ′2 �� P �
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� D�� �
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�
�� �'  ���� ��� ℘ ′2/f 
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 D��
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�� ���5 	��� 	�
�
 ��������
 ��
��� 1 ���' �

-�����
�+��� �3  �
  
/������ 073 �<��� ��������� :�� 	
� ���� 	
� 8����
:�� Ω ��' 8
� 
��
� �
���
� 	
� 8���� (
�	
� 	�
 �
��
 e1, e2, e3 ��
� �
	������
*
��
��
��'
�3 �
�� ��� �
�
�� ���5 	�
 ;
�<���� 
��
�����
� ��
Y;�
��
� :�� z2 
�	 z4

�� 	
� %�"���
!$��(����
�� :�� ℘ 
��;
�
;�
�
�5 ���� ��� �
�� 
��
 ;(
��

4��� 	
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� �� '�' �
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������
 4
������ f ∈ K(Ω) ��� ;(
� D��
� 
���
� C�	�
�� ��� ;' 8'

f(z) :=
℘ ′(z) − ℘ ′(w)

℘(z) − ℘(w)
, w ∈ C \ 1

2
Ω

0:��' D��*������� "'13' ��� ��
�� 
����(
�5 	��� f �
� D��
 1' C�	�
�� �� 	
�
,�
��
� Ω 
�	 −w + Ω �
���;�'

�� ��� .@���� K(Ω)��
�
� 7013 ��� ����5 	��� ���� �
� 
��
� D������ �� ℘ 	�

D��
 ����� (
��
�
� �G��
�'  ���� ��� ℘ ����� ���
�������5 ���� �����;
�	
��
��
� 	
� �G�*
� C'  
� �G�*
� C(℘) ��� ����� ������*� ;
� �G�*
� ���
�
��������
� 4
������
� ��
� C'

("�&� �3 ��� ���
��
 �����������
 ��
����
�
 ,�+"����� Ω ��
� ��

� ��� �
���.


��
 ��
����
�
 �
 ℘#
�3 K(Ω) = C(℘)[℘ ′]'
�3 ��� ��
� ��� 1��������������
� ��
 K(Ω) ",�� C(℘) ��� 2#

�
�
� ,��; 7 �<��� ���� 	��� -
	
� f ∈ K(Ω) 
��	

��� ����
��
� ���

013 f = R(℘) +Q(℘) · ℘ ′5

(��
�R 
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4
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� N�� �
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 ��� 	�
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���O'

$�����# �3 $� �
� f ∈ K(Ω) �
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�	 ����� ��������'  �
 C�	�
�� :�� f 5
���� 	�
 ��;��� 	
� D��
 :�� f �� D
���	
�*�����
������� 0�
;<��� ��� ���
�
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������
��
�35 �
� m' �
��
� �
� P := �(ω1, ω2) 	�
 ;
�
�G���
 H�
�	�����


�	 N := {c ∈ P ; f ′(c) = 0}'  ��� ��� N 
�	����'

0�3 ��� 2
�� m ��� ���
�� m = 2k# 2� 7���� ��������
 2
�� u /∈ f(N) ��,� ��
�

������ ����������
� ��
���

0∗3 c1, . . . , ck , c
′
1, . . . , c

′
k ∈ P , cj + c′j ∈ Ω !"� j = 1, . . . , k5

�� �
�� u ��
 f �
 P ��
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 >∗? 

��
����
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� +�
�
��� ��� &���!
������ 1'



�� �	
 ��
�	
 �	
 	�������
�	� ��������	� 71

9��� ,��; �. ��� 	�
 ��;��� 	
� u!,�
��
� :�� f 
�
������ ��
��� m' ,
� c ∈ P
��� f(c) = u �
�
�
�'  � f �
��	
 ���5 ���� �
�� f(−c) = u 
�	 
� ���� 
��
ω ∈ Ω ��� c′ = ω − c ∈ P ��(�
 f(c′) = u' )� 4���
 c′ = c (��	
 f(c + z) =
f(ω − c + z) = f(−c + z) = f(c − z)5 ���� f ′(c + z) = −f ′(c − z) 
�	 	����
f ′(c) = 05 ���� u ∈ f(N) ����
�'  ��
� ���	 c 
�	 c′ = ω − c :
�����
	
� 
�	
	�
 u!,�
��
� :�� f ��
�
� �� D���
� �
�' �
�
� u /∈ f(N) ��� -
	
 u!,�
��
 	�

@�
������
�� 1'

0��3 f ��� ��
� �
���

�� ��
����
 �
 ℘#
��� (<��� �
� v �= u ����� �
� f(N) 
�	 
��<�� ���� 0�3 D
���


0∗∗3 d1, . . . , dk , d
′
1, . . . , d

′
k , dj + d′j ∈ Ω ��� j = 1, . . . , k5

�� 	��� v :�� f �� P �
��
 �� 	
� ,�
��
� 0∗∗3 ���
����
� (��	5 
�	 ;(��
��� 	
� @�
������
�� 1'  �
 
���*�����
 4
������

g(z) :=
f(z) − u

f(z) − v

��� 	���

0∗∗∗3 9
����
��
� �� P �
��
 �� 	
� ,�
��
� 0∗35 
�	 ;(�� ��� 	
� C�	�
�� 15

�	 D��
 �� P �
��
 �� 	
� ,�
��
� 0∗∗35 
�	 ;(�� ��� 	
� C�	�
�� 15

	
�� 	�
 D��
 :�� f �
�
� ���� �
��
�'

�
�� 	�
 D
���
 �� (∗) 
�	 (∗∗) *���(
��
 :
�����
	
� ���	5 ����

cj , c
′
j, dj, d

′
j /∈

1

2
Ω.

 
����� ���

h(z) :=
(℘(z) − ℘(c1)) · . . . · (℘(z) − ℘(ck))

(℘(z) − ℘(d1)) · . . . · (℘(z) − ℘(dk))


�
������ 	�
 $��
������� 0∗∗∗3'  
� V
���
�� g/h ��� 	��
� �������*�5 ����
���� ,��; �� ��������' �
� g ∈ C(℘) ����� (
�
�

f =
vg − u

g − 1

	�
 8
��
*�
��'
�3 )�� f ∈ K(Ω) �����!��������5 	��� ����
��� ���

f = g+ h℘ ′ ��� g(z) :=
1

2
(f(z) + f(−z)) 
�	 h(z) =

1

2℘ ′(z)
(f(z)− f(−z)).

CQ
���� �
�G�
� g 
�	 h ;
 K(Ω) 
�	 ���	 �
��	
' 9��� �3 ���	 	��� g 
�	
h ��������
 4
������
� :�� ℘'
�3 �
�
� ℘ ′ /∈ C(℘) ����� 	�
 8
��
*�
�� �
� ,��; 7' �
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)� ���
�������
� 4���
��
�
�� 
��<�� ��� 	��

.�����"� ;� �"� ",�� C �

,�0
���� 8
,�������� X, Y ����

K(Ω) ∼= C(X)[Y ]/I(X, Y ) 

��

 I(X, Y ) �
� ��
 Y 2 − 4(X − e1)(X − e2)(X − e3) ��+����� <
������
� �

C(X)[Y ] ,�+����
��#

$�����# ��� 	
/��
�� 
��
� ����!�������*����
�

Φ : C(X)[Y ] → K(Ω) 	
��� X �→ ℘ , Y �→ ℘ ′.

9��� 	
� ,��; ��� Φ �
�-
���:' ��� ����
��� �
� ϕ ∈ C(X)[Y ] ����  �:�����
��� �
�� ��
� 	
� �G�*
� C(X) �� 	
� 4���

ϕ(X, Y ) =
(
Y 2 − 4(X − e1)(X − e2)(X − e3)

) · q(X, Y ) + r(X, Y )

��� q, r ∈ C(X)[Y ] 
�	 r(X, Y ) = r1(X)+ r2(X) ·Y ��� r1(X), r2(X) ∈ C(X)'
�
���
�	 	
�  �Q
�
�������
���
�� �� ,��; 7 ��
�� ϕ �
��
 	��� �� �
�� :��
Φ5 (
�� r(℘, ℘ ′) = 0 ����' �
�
� 013 �
	

�
� 	�� r(X, Y ) = 0'  ���� 
��<��
��� �
�� Φ = I(X, Y ) 
�	 	�
 8
��
*�
�� ����� �
� 	
� �������*��
!,��;
��� ����
' �

9��� 	
� ,��; ��� K(Ω) �� ,���
 	
� ���
��� 	
� �����;
�	
�;���	 1 ��
� C
0:��' �� ��$&��	 R126�T5 ��������� �'1#83'  ���� ���	 -
 ;(
� $�
�
��
 :��
K(Ω) ���
������� ���<���� 
�	 ��� 
��<�� 	��

.�����"� -� 2� f, g 
�� K(Ω) ��,� �� ��
 
����.�����
��� ����
�� P (X, Y ) �

C[X, Y ] ���

P (f, g) = 0.

-�����
�+� �
�� K(Ω) 
�� �G�*
� ���5 ��� I(X, Y ) 
�� �������
� )	
�� ��
C(X)[Y ] 
�	 ����� Y 2 − 4(X − e1)(X − e2)(X − e3) 
�� ���
	
;���
� D������
�� Y ��
� C(X)'

!9� ��%������� 4�� -
	
 �����	
�� ϕ : C/Ω → Z ��� 
�	����
� ��<�
� ��� 	
�
��
� :�� ϕ 	
/��
�� 	
���

Grad ϕ :=
∑

c∈C/Ω

ϕ(c) ∈ Z.

E��
� 
��
� ������� :�� C/Ω :
���
�� ��� �
� 
��
 �����	
�� ϕ : C/Ω → Z
��� 
�	����
� ��<�
� 
�	 H��	 ϕ = 0' 8
� *
���(
��
� �		����� ���	
� 	�

�
��
  �: (C/Ω) ���
�  �:����
� :�� C/Ω 
��
 ��
����
 H�
**
'

A
	
� 0 �= f ∈ K(Ω) ���� �
� 
��
 �����	
��

ϕf : C/Ω −→ Z , ϕf(c+ Ω) := ordc f 5
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/������ ����� :�� 	
� ���� 	
�
@
���
�
�� c ��' �
�
� ,��; �. ��� 	��� ϕf , f ∈ K(Ω)5 
��  �:����5 	
� ��
�
�����
 <
���������� ;
 f '

��� 	
/��
�
� 
��
� �
�-
���:
� H�
**
�!�������*����
�

Φ : Div (C/Ω) −→ C/Ω , Φ(ϕ) :=
∑

c∈C/Ω

ϕ(c) · c,


�	 
�����
�

 �: (C/Ω)/KernΦ ∼= C/Ω'

F
� 9���(
�� :��

ϕf ∈ Kern Φ ��� ���
 0 �= f ∈ K(Ω)

�
����
 ���

Φ(ϕf ) =
∑

c∈C/Ω

ϕf (c) · c =
∑
c∈P

(ordc f) · (c+ Ω)

��� -
	
� D
���	
�*�����
������� P :�� Ω' 9��� ,��; � ��� 	�
 �
���
 ,
��

��
� ��
��� Ω' )� 1�' (��	 ��� 	��� �
�
�5 �
�� 
��� ��������� +� 7����
ϕ ∈ Kern Φ ��
 0 �= f ∈ K(Ω) ��������� ��� ϕ = ϕf #

��������	 �� 5�	 ���
��� f ∈ K(Ω) 	���� 
��� ���	� .���� ������� �	 ��� :�����& ��� ��	
5�&�	 0, ω1, ω2 
	�
�� 3�� f ��	� ���� ������ !�	&���	" ��� �� 9������	 
�
�������
�� P ��	
� *#�� ��	�
��� 9���
�	 a �	� b �
�� :
		 ���� f(a+ b− z) = f(z)�
=� 1
	 ���������� 
��� f ∈ K(Ω)" ��� ��	
� �	 ��	 9�	&��	 ω/2 , ω ∈ Ω , ω /∈ 2Ω" ��	�
���
9��� �
��	 �	� ��	�� ������� � ��	��

� 3�� ω ∈ Ω �	� f ∈ K(Ω)� 0�� f �	���
��" �� �
� f 
	 ��� 3����� z = ω/2 ��	�	 9�� ����
��	� 2��������� �	� *#
� ��	 �	���
��� ���	�	�� 0�� f ���
��" �� ��� ��� ���	�	� ��	 f 
	
��� 3����� z = ω/2 ���
���
>� 3�� 0 �= f ∈ M" �� �
�� �� *� 7���� ω ∈ Ω ��	 c(ω) ∈ C ���� ��� f(z + ω) = c(ω)f(z) �)�

��� z ∈ C \Df � :
		 ����
��� ordc+ω f = ordc f �)� 
��� c ∈ C, ω ∈ Ω�
����
∑

c∈P ordc f = 0�
����� 0�� f �
	*" �� �B�������	 a, b ∈ C ��� f(z) = aebz �)� 
��� z ∈ C�
?� 3�� f ��	� �
	*� !�	&���	" �� �
�� �� *� 7���� ω ∈ Ω ��	 c(ω) ∈ C ���� ��� f(z + ω) =
f(z) + c(ω)� :
		 ���� �� a, b ∈ C ��� f(z) = az + b�
�� 5� ���� ℘ ′′(z) = 6℘2(z) + 2(e1e2 + e2e3 + e3e1)�
�� 1
	 �������� ��	 	����(�����
��� 9��C	�� P (X,Y ) ��� P (℘ ′, ℘ ′′) = 0�
@� 5� ���� [K(Ω) : C(℘ ′)] = 3.
��� 1
	 ������/��� �����&�	� =
 �	 �����	��� .����< '� e1, e2, e3 ��D	���� �
	

e1 = (1, 0), e2 = (0, 1), e3 = (1, 1) ∈ (Z/2Z)2.

0�� ω′
1 = aω1 + bω2 , ω

′
2 = cω1 + dω2 ��	� #������ �
��� ��� M =

(
a b
c d

) ∈ GL (2; Z)" ��
����
���� �
	 M ∈ GL (2; Z/2Z)" �
� 
�� M ����� 8���&���	 ��� 6�� �	�	��	 mod 2
�	������� M  ��������� ��� 1�	�� {e1, e2, e3}� ��*����	�� �
	 ��� �	�� �����	��	 +�,-�	

*�� 	���	 �
��� ��� ��	�� 3�����" �� ���� e′j = ej ·M , j = 1, 2, 3�



7I �����	� �� ��������
�	 ��������	�

��� 1
	 ����
���� f(z) 
�� �����&�	� =� �	� ������	� f(w) ��#�� ��� 8������	 ��	 f 
	

��	 3�����	 z = 0 �	� z = −w�
��� 3�	� a0, . . . , an ∈ C, a1 = 0" �� �B������� ��	
� ��	 f ∈ K(Ω) ��� Df ⊂ Ω �	� ���

�����	�E5	�#��&��	� anz
−n + . . .+ a0 + . . . �� 0�

�=� 3�� ω1, ω2 ��	� �
��� ��� +������ Ω �	� f ∈ K(2Ω)� :
		 ���,��

g(z) := f(z) + f(z + ω1) + f(z + ω2) + f(z + ω1 + ω2)
*� K(Ω)� .����� ���� ������ !�	&���	 �	������" #�		 f ��� *����,���� ℘(!�	&���	 ���F

�
� 3���	 a, b ∈ C� 5� ���� ��	
� �
		 ��	� ���� ������ !�	&���	 f ∈ K(Ω)" ��� �	 
 �	� �

������� � ��� �	� f(a) �= f(b) ���)���" #�		 a �≡ b(mod Ω)�
�>� 5� �B������� &��	 f ∈ K(Ω) ��� K(Ω) = C(f)�
�?� 1
	 ���� ��	� �	�
��
	�� ��� �� ��	 
��� �	
��/	����� ����������	� ��� ���

�E+��  �

��� 6,� ����#������	� K(Ω) ⊃ C(℘) 
	�

�!� �	� ��������������� ℘"��
 �	�


)� 	�
�
� D�������
� �
� Ω = Zω1 + Zω2 ��
�� 
�� H���
� �� C'

�� .�����
������8("�& �?� ��� ℘8�
������� 4�� �*<�
�
 F(
��
 ����
��
�
�
(�� 	�
 �
����
 ��
��� 
�(�� ����
�
��
�'  �;
 �
�G���
� (�� 	�


,����������� ��� K ⊂ {(ω1, ω2) ∈ C × C ; ω2 �= 0, ω1/ω2 /∈ R} ��
 1���
�.
���# �


 ��,� �� �������� 1�
��

��
 α �
� β �� �
��

α · |m1i+m2| ≤ |m1ω1 +m2ω2| ≤ β · |m1i+m2|
!"� 
��� m1, m2 ∈ R �
� (ω1, ω2) ∈ K#

$�����# �
� �����
���<������	
� 	��� ��� m2
1 +m2

2 = 15 ���� |m1i+m2| = 1
:���
��
�;
�'  �
 ��
���
 4
������ (ω1, ω2, m1, m2) �→ |m1ω1+m2ω2| ����� �
�
	
� ���*���
� �
��
 K × {(m1, m2) ∈ R × R S m2

1 + m2
2 = 1} ��� �����
�

α 
�	 ��� �����
� β ��' �
�� ω1, ω2 ��
� R ���
�� 
����<���� ���	5 ���� ��
��
m1ω1 +m2ω2 �= 0 ��� ���
 (0, 0) �= (m1, m2)' ���� ���	 α 
�	 β *�����:' �

��� ��(
�	
�� 
�����
� (�� 	
�

.��%��+��&�("�& �?� ��� ℘8�
������� ��� 4����

℘(z;ω1, ω2) := z−2 +
∑

0�=ω∈Zω1+Zω2

(
(z − ω)−2 − ω−2

)
013

��
�������� 
,����� �������0@�� 
�! 7���� 1���
���� �


0�3 {(z, ω1, ω2) ∈ C × C × C ; ω2 �= 0, ω1/ω2 /∈ R, z /∈ Zω1 + Zω2} '
$�����# ,
� K 
��
 ���*���
 �
���
��
 :�� 0�3' ��� (<��
� 
�� ρ > 0 
�	 
��
���*���
� K ′ ⊂ {(ω1, ω2) ∈ C × C ; ω2 �= 0, ω1/ω2 /∈ R}5 �� 	���

K ⊂ Kρ ×K ′ , Kρ = {z ∈ C ; |z| ≤ ρ} .



�� ��	 ������
�����
�	 ℘ �������� 7"

F
 K ′ (<��� ��� α ���� 	
� D��*�������'  ��� ���� ��� ���
 (z, ω1, ω2) ∈ K 
�	
(m1, m2) ∈ Z ��� |m1i+m2| ≥ (ρ+ 1)/α �
��

|ω| ≥ ρ+ 1 ��� ω = m1ω1 +m2ω2


�	 ∣∣∣ 1

(z − ω)2
− 1

ω2

∣∣∣ = ∣∣∣ 2zω − z2

ω2(z − ω)2

∣∣∣ = ∣∣∣ 2 − z/ω

(1 − z/ω)2

∣∣∣ · |z|
|ω|3

≤ 3

(1 − ρ/(ρ+ 1))2
· ρ

|ω|3 ≤ 3ρ(ρ+ 1)2

α3 · |m1i+m2|3 .

 � �
� 
�	���� :�
�
 D���
 (m1, m2) ∈ Z × Z ��� |m1i + m2| ≤ (ρ + 1)/α

�����
�
�5 ����� 	�
 8
��
*�
�� �
� 	
� �����
�
� ���:
��
�; 	
� ������
���!
�
��
 G3(Zi+ Z) ���� 	
� ���:
��
�;?�
��� 1'2' �

4�� 
�� �
��
� H���
� Ω 
��<�� ��� ������ 	��

$���"� �"� k ∈ N, k ≥ 3 ��
�������� ��� 4����∑
ω∈Ω

(z − ω)−k


�! 7���� 1���
���� �
 C \ Ω 
,����� �������0@��#

9
� 
�����
� (�� 	
� ���
���	���
�

.�����
������8("�& �?� ��� ℘8�
������� ��� 4����

℘(z) := ℘Ω(z) := z−2 +
∑

0�=ω∈Ω

(
(z − ω)−2 − ω−2

)
, z ∈ C \ Ω ,073

��
�������� �
 7���� 1���
���� ��
 C �
� ���
�
 ��������
�� �
��0�� 
,�����
�������0@��# ��� ��
����
 ℘ ��� ��
� ���
�� ����������� ��
����
 ,�+"����� Ω 
��� �
� �
 ��
 ��������
���
 ��
 Ω ���� 2# )��
�
� ��� 4������� ���� �
� ���
��������� �
 C \ Ω# ��� %�"���
.4���� ,�� 0 �
� ��� ����

0I3 ℘(z) = z−2 + a2z
2 + . . .'

 ���� ��� ;
��
��� 	
� 8
(
�� 	
� $����
�;!,��;
� �'7 �
�
�
�'

��� �
��� ℘(z) 	�
 ������
�������� ℘.��
����
 0;
� H���
� Ω3'  �
 )	

5

��
 
���*�����
 4
������ 	
��� 
��
 ,
��
 ��
� ���
 H���
�*
���
 ;
 	
/!
��
�
� 
�	 �� 	�
 	�**
��
 D
���	�;��<� �
�
����
������ ;
 ����
�5 �
�� �
�
4'H'�' ������
��� 01B�7?1B"�3 
�	 �'�'�' ������
���� 01B1"?1B263 ;
!
����' ��� :
���
���
 ��
�;
 	�
 ����������
 ���
��
�� �� �' 9����������
� ����
��� 
���
��
�5 	��� ���� �� ������
����U @���
�
��
� 	�� N������
����

℘O ����<����� �
� 
��
� �
(G������
� p 
��(���
�� ���'
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�	 ��������	�

$�����# F
� �����;
�� �
�;
 ���

fω(z) := (z − ω)−2 − ω−2 ��� 0 �= ω ∈ Ω 
�	 Kρ := {z ∈ C ; |z| ≤ ρ} , ρ > 0.

 �
 �����
�
5 ���*��� ��
����<J��
 ���:
��
�; 	
� �
��
 073 ����� �
�
��� �
�
	
� ���:
��
�;!,��;'

-�
"
��
�+ �� ��� 4���� 073 ������ ��
� �
 C ���������� ��
����
 �
� ���
��

� �
 ��
 ��
���
 ��
 Ω ���� 2# )��
�
� ��� 4������� ���� �
�#

F
� $����� �
� ρ > 0' $� �����

℘(z) = z−2 +
∑

|ω|<ρ+1

fω(z) +
∑

|ω|≥ρ+1

fω(z).

��
� ��� 	�
 
���
 
�	����
 ,
��
 �
�����*� �
� Kρ5 (<��
�	 	�
 ;(
��
 ����
	
� ���:
��
�;!,��; �������*� �
�Kρ ���' ���� ��� ℘|Kρ �
��
 �� 	
� D
���
�
Ω ∩Kρ D��
 �' C�	�
�� ��� �
��	

� 0' �

-�
"
��
�+  � ℘ ��� ��
� ���
�� ��
����
 �
� �� ���� 0I3'

F
� $����� 
��
�;� ��� ω 	
��� −ω �� 	
� ,
��
 073' �
�
� 	
� �����
�
�
���:
��
�; ����� ℘(−z) = ℘(z)' 9
� �
����
� ��� fω(0) = 0 ��� ω �= 0 
�	
��
��5 	��� 	�
 %�"���
!�
��
 �
� 0 	�� ��������
 H��
	 0 ���' �

-�
"
��
�+ '� :� ���� ℘(z + ω) = ℘(z) !"� 
��� ω ∈ Ω �
� z ∈ C\Ω#

F
� $����� ��� ��� ���� 	
� ���:
��
�;!,��;

℘ ′(z) = −2 ·
∑
ω∈Ω

(z − ω)−3 , z ∈ C \ Ω,


�	 	�
�
 �
��
 ��� ���� 	
� �
��� �����
� ���:
��
��' $� ����� ℘ ′(z + ω) =
℘ ′(z) ��� ω ∈ Ω' )�� 	��
� ω1, ω2 
��
 8���� :�� Ω5 �� ���� ℘(z+ωj) = ℘(z)+Cj

��� ��������
� Cj ��� j = 1, 2' 4�� z := −ω1/2 �;(' z = −ω2/2 ����� C1 =
C2 = 05 	� ℘ �
��	
 ���'  ���� ���� ℘(z+ωj) = ℘(z) ��� j = 1, 2 
�	 ℘ ��� ���

ω ∈ Ω ��� D
���	
�' �

-�����
�+��� �3 )� �
������ 	
� ,��;
� :�� ��

�	+%�..��� 0:��' �'
-�����
 R122"T5 ,��; �'1'73 ��
��� ��� �
��5 	��� ��� ��
� 
��
� 8
(
�� -
�
�
,��;
� �� 
��
� ,*
;������� (�
	
����� ���' ���������� ��� 	
� ,��; :����

�	+

%�..��� ��
� 
��
�
��� ���� 	
� @�����	 	
�������
�������
� ������
�!
���� 	
� ℘!4
������ ��	
���
�� (��	
�'
�3 )� 	
� ����
� 8
��
*�
�� 7 ���� 	
� E�(
� ��
� ℘ ′ ����� ���
 ;
�<�;����

=�
��
�
��
� :
���
	
� (
�	
�' ��� :
�	���
� �
��� A' ���
���
 	
� ���!
(
�� �
� 
��
� 	��
��
� 8
(
��5 	
� �
� 
��
� �
��

� 8
������
�� 	
� 	
���
 �Q
�
�;���	
�� �
� 073 ��� ℘(z + ω) − ℘(z) 
����
�
�	
� �
��
 �
�
��' ���
:
���
���
 ��
�;
 �' ������� 0R121#T5 ���' �6#3'
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 � ��� �
�����8���A�	��
�+���
 �� 1'20�3 �
������
� ��� 	�
������
���!
�
��


Gk := Gk(Ω) :=
∑

0�=ω∈Ω

ω−k ��� �
��	
� k ≥ 4.013

9��� D��*������� 1'2 ���	 	�
 
���*�
��
�	
� �
��
� ��� 
��
��	
� k ≥ 3 ��
���
9
��' ��� �
�;� �����
J����

γ := γ(Ω) := min{|ω| ; 0 �= ω ∈ Ω}

�	 
��<�� 	
�

("�&� �"� 
��� z ∈ C ��� 0 < |z| < γ(Ω) ����

℘(z) = z−2 +

∞∑
n=2

(2n− 1)G2n · z2n−2 = z−2 + 3G4 · z2 + 5G6 · z4 + . . . .0�3

$�����# �
���
�	 :��

1

(1 − t)2
=

d

dt

(
1

1 − t

)
=

∞∑
m=1

mtm−1 , |t| < 1,

��� ��� ��� ω �= 0

1

(z − ω)2
− 1

ω2
=

1

ω2

(
1

(1 − z/ω)2 − 1

)
=

∞∑
m=2

m · z
m−1

ωm+1
, |z| < γ,


�	 	��
�

℘(z) = z−2 +
∑

0�=ω∈Ω

( ∞∑
m=2

m · z
m−1

ωm+1

)
, 0 < |z| < γ.0∗3

�
�
� ∣∣∣m · z
m−1

ωm+1

∣∣∣ ≤ γm

( |z|
γ

)m−1

· |ω|−3


�	 �
���
�	 	
� ���:
��
�;!�
��� 1'2 ��� 	�
 �
��
 0∗3 �� m 
�	 ω �����
�
���:
��
��' 9��� ,��; 1'B 	��� ��� ���� 
���	�
� 
�	 
��<��

℘(z) = z−2 +
∑
m≥2

mGm+1 · zm−1 , 0 < |z| < γ.

�
�
� D��*������� 1'2 ��� 	�� ��
� 0�3' �

'� ��� &A���� ��B������"�+���	

�+� ��� ������
�������� ℘.��
����
 ��.

"�� ��� ������
��
��������
�

013 ℘ ′2 = 4℘3 − g2℘− g3'



7B �����	� �� ��������
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 ��
� ���	 g2 
�	 g3 	
/��
�� 	
���

0�3 g2 := g2(Ω) := 60 G4(Ω) 
�	 g3 := g3(Ω) := 140G6(Ω) .

��� �
��� g2 
�	 g3 	�
 ������
����?	
�
��

��
 	
� H���
�� Ω' ��� :
�!
(
�	
� 	�� %����".���,�� 
�	 ����
��
� O(zk) ��� 
��
 4
������ f(z)5 	�

|f(z)| ≤ C · |z|k ��� 
��
� �

���
�
� C ��� z �
� 
��
� E��
�
�� :�� 0

������'

$�����# �
��
�
�	 :��

℘(z) = z−2 + 3G4 · z2 + 5G6 · z4 + O(z6)

0:��' �0�33 �
�
���
� ���

℘2(z) = z−4 + 6G4 + 10G6 · z2 + O(z3) ,
℘3(z) = z−6 + 9G4 · z−2 + 15G6 + O(z) ,
℘ ′(z) = −2 · z−3 + 6G4 · z + 20G6 · z3 + O(z4) ,
℘

′2(z) = 4 · z−6 − 24G4 · z−2 − 80G6 + O(z) .

 ���
� 
��<�� ��� ��� 0�3

0∗3 ℘ ′2(z) − 4℘3(z) + g2℘(z) + g3 = O(z)'

��
� �
�G�� 	�
 ����
 ,
��
 ;
 K(Ω) 
�	 ��� D��
 �G����
�� 	���5 (� ℘ �	
� ℘ ′

D��
 ���' 9��� 0∗3 ��� 	�
 ����
 ,
��
 ��
� �
� 0 
�	 	��
� ��
���� �������*�'
,��; �'�� ;
���5 	��� 	�
�
 4
������ �������� ���' 9��� 0∗3 (�
	
�
� ��� 	�
�

��������
 ��
��� 9
��' �

 �Q
�
�;�
�� ��� 0135 �� ����� 	��

.�����"� ;� :� ����
2℘ ′′ = 12℘2 − g2.

.�����"� -� �"� k ∈ N ����

℘(k) ∈ Z[G4, G6, ℘] + Z[G4, G6, ℘]℘ ′.

$�����#  �
� ��� ��� k = 0 
�	 1 �������' �
�
� 0�3 ����� 	�
 �
����
 ��� k = 2
�
� �������� �' 9
� 
����� 
��
 )�	
����� 	�
 8
��
*�
��' �

.�����"� 6� �"� f ∈ K(Ω) ��
� /���
��
�9
0�3 f ��� ��������� �
 C \ Ω#
0��3 f ∈ C[℘] + C[℘] · ℘ ′#

$�����# 0�3 =⇒ 0��3% ,
������
�� ��� α℘n �;(' α℘n · ℘ ′5 α ∈ C5 n ∈ N05
�

���
�5 :�� f 5 �� ���� ��� �
� 	�
 C�	�
�� 	
� D��
 �� 	
� H���
�*
���
�
�
�;
���: 
���
	���
�' ,����
J��� �
����
 ��� ���� res0f = 0 ���� ,��; �'�8'
0��3 =⇒ 0�3% ����' �



�� ��	 ������
�����
�	 ℘ �������� 72

.�����"� �� �"� n ≥ 4 ���� ��� 4�������
�!�����

(n− 3)(2n+ 1)(2n− 1)G2n = 3 ·
∑

p≥2,q≥2
p+q=n

(2p− 1)(2q − 1)G2pG2q.073

$�����# ��� ��<�� 	�
 %�"���
!�
��
 �0�3 �� ℘ ′′ +30G4 = 6℘2 ���� ��������
� 
��%∑

n≥2

(2n− 1)(2n− 2)(2n− 3)G2nz
2n−4 + 30G4

= 12
∑
n≥2

(2n− 1)G2nz
2n−4 + 6

∑
p≥2

∑
q≥2

(2p− 1)(2q − 1)G2pG2qz
2p+2q−4 .

$�� ��
Y;�
��
�:
���
��� 
����� �
�
��� 	�
 8
��
*�
��' �

,*
;�
�� 
��<�� ���

0I3 7G8 = 3G2
4 , 11G10 = 5G4G6 , 143G12 = 42G4G8 + 25G2

6 = 18G3
4 + 25G2

6


�	 	��

.�����"� �� �"� k ≥ 8 ����

Gk ∈ Q[G4, G6].

.�����"� �� ��� Ω ��
 ������ �
 C ��� +���������
 ������
����*	
�
��

��

g2 �
� g3# 3��� �
 ��
�� ��,��� G ⊂ C ���������� 
����.��
��

�� ����
� f
��� ������
��
��������
�

f ′2 = 4f 3 − g2f − g3

���� ����� f(z) = ℘(z + w) , z ∈ G ��� �����
���� w ∈ C ����,�
# 	�� f ∈ M

��
� ������ ����
� �


 ��� Ω �
� �������
������ ��
 f # �
� ������ Ω ��� �����
g2(Ω) �
� g3(Ω) 
��� 
��� ����� G4(Ω) �
� G6(Ω) ��
������ ,�������#

$�����# ,
� f 
��
 �� G �
�����*�
5 �����!��������
 �G�
�� 	
� ���
�
�
!
�
�  �Q
�
�������
���
��' )�� f �� 
��
� ��
�����
��
 U ⊂ G 
� u �������*�

�	 f ′ 
���
��� 9
�� �� U 5 	��� ���� �
� �

���
�
� ���� 
��
� �
�;
� f ′ =√

4f 3 − g2f − g3' 9��� �
��� �'78 (<��� ��� �
� 
�� w ∈ C ��� ℘(w+u) =
f(u) 
�	 	��� 	����
� ����
� ���� ℘ ′(w + u) = f ′(u) ���
��
�5 ��	
� ���
���' w 	
��� −w−2u 
��
�;�'  �
 4
������
� f(z) 
�	 g(z) := ℘(z+w) �
���
�
	
� ��
���
�  �Q
�
�������
���
�� 1' C�	�
�� 
�	 �����
� �� D
��� u ��
�
��'
 ��� ����� f(z) = g(z) ��� ���
 z ∈ U �
� 	
� $����
�;! 
�	 $��	

����
���!
���; 0:��' �' ���
�� R�###T5 ��3'  
� )	
����<�����; ��*��;�
�� f(z) = g(z)
��� ���
 z ∈ G'  �
 �
��
�	
 8
��
*�
�� ����� �
� �
� 	
� �������
5 	��� ���
	�
 ℘!4
������ ���� 	
� ������
������!,��; 1 	�� D
���	
�����
� ��
��� 	
�
D����
��
��
��
 ���' �



I# �����	� �� ��������
�	 ��������	�

-�����
�+� �� ,�
��
 	
�  �Q
�
�������
���
�� 013 ���� ��� �
� �
�
�
�
�
��������
� 4
������ R ����
�
��
� ���� �G�
��
� w = f(z) 	
� �� �
�����
�
,�
�������
 ������
��
��������
�

0"3 w′n = R(z, w)

��� �
�
�
�
� n ∈ N ����
�' $� ���� ��
� 	
�

("�& %�� �
�����	� 
�� �
	��
� $����+� 0"3 ��
� 
�! C ����������
�
� ��

�+�
��
�� ����
� �


 ��� R(z, w) ��
 ����
�� �
 w ��
 ��
�� ��
�
≤ 2n#

$��
� $����� /�	
� ��� �� $' �����5 )���

�� ������
��
� �/�
���
� �
 ���
������� ���
�
5 A' ���
�5 9
( Z��� 126�5 ��
��
� I'�'I' $��
 ������/������
	
� ���������
�  �Q
�
�������
���
��
� �
����
��� 9'  
�����
*5 ����' ���'
 ��5 ��7?�6I 012623'

�� ��� ���+���	
 ��� ��B������"�+���	

�+��� 9
�
�

013 ℘ ′2 = 4℘3 − g2℘− g3

(�� �� ,��; �'7 	�
  �Q
�
�������
���
��

0�3 ℘ ′2 = 4(℘− e1)(℘− e2)(℘− e3)

�
��
�
��
� (��	
�'  ��
� (��
� e1, e2, e3 (�
 �� �'7073 	
���

073 ek = ℘(ωk/2) , k = 1, 2, 3 , ω3 := ω1 + ω25

	
/��
��5 (
�� ω1, ω2 
��
 8���� :�� Ω ���'  � ℘ �
�� ��� 	�
� :
�����
	
�

�
��
 �������5 
����� 
�� @
���
��� ��� 
��
 E��
������
 X ��
� C 	
�

("�&� :� ����

4X3 − g2X − g3 = 4(X − e1)(X − e2)(X − e3).

�
� �������� �'I� ����� 	���

.�����"� ;� �"� ",�� C �

,�0
���� 8
,�������� X, Y ����

K(Ω) ∼= C(X)[Y ]/I(X, Y )5

��

 I(X, Y ) �
� ��
 Y 2 − 4X3 + g2X + g3 �
 C(X)[Y ] ��+����� <
������
�
���#

$�� ��
Y;�
��
�:
���
��� �� ,��; 
����� 	��

.�����"� -� :� ����

0I3 0 = e1 + e2 + e35

0"3 g2 = −4(e1e2 + e2e3 + e3e1)5

0�3 g3 = 4e1e2e3'



�� ��	 ������
�����
�	 ℘ �������� I1

.�����"� 6� :� ����

g3
2 − 27g2

3 = 16(e1 − e2)
2(e2 − e3)

2(e3 − e1)
2 �= 0.

$�����# ��� 0I3 
�	 0"3 
��<�� ��� ;
�<����

0∗3 g2 = 2(e21 + e22 + e23) �;(' g2
2 = 16(e21e

2
2 + e22e

2
3 + e23e

2
1)'

�
��
� 
��
�
� 0I3 
�	 0"3 	��� �
�� ����

2(e1 − e2)
2 = 2(e21 + e22) − 4e1e2 = 2g2 − 2e23 + 4e3(e1 + e2) = 2g2 − 6e23,

����
(e1 − e2)

2 = g2 − 3e23.

 � 	�
 	
��� ;�������
 @
���
���
�� 	
� e1, e2, e3 
����
�
�	
� 8
;�
�
��
�

�
������ ������ ���	5 ��� ���

16(e1 − e2)
2(e2 − e3)

2(e3 − e1)
2 = 16(g2 − 3e21)(g2 − 3e22)(g2 − 3e23)

= 16g3
2 − 3 · 16g2

2(e
2
1 + e22 + e23) + 9 · 16g2(e

2
1e

2
2 + e22e

2
3 + e23e

2
1) − 27 · 16e21e

2
2e

2
3 .

�
�
� 0∗3 
�	 0�3 ��� 	�
 �
���
 ,
��
 ��
� ��
��� g3
2 − 27g2

3' 9��� �'70�3 ���	
e1, e2, e3 *���(
��
 :
�����
	
�' �

063 ∆ := ∆(Ω) := g3
2 − 27g2

3

�
��� ��� 	�
 ��������


�� 
�	

0B3 j := j(Ω) := (12g2)
3/∆

	�
 
,������ 	
�
��

�� 	
� H���
�� Ω' ��� �������� 8 
�	 . ����� 	��

.�����"� �� :� ����

j = −4 · 123 · (e1e2 + e2e3 + e3e1)
3

(e1 − e2)2(e2 − e3)2(e3 − e1)2
.

.�����"� �� �"� λ :=
e2 − e3
e1 − e3

����

j = 256 · (1 − λ+ λ2)3

λ2(1 − λ)2
.

-�����
�+��� �3  �
  �����������
∆ ��� 0��� �
� 
��
� 4�����3 ;
��
��� �
��
	�
  �����������
 	
� D������� f(X) := 4X3 − g2X− g3 �� ,���
 	
� ���
���
0:��'  � %��	 R1227T5 @5 K 1#3%  ��� (��	 	�
  �����������
 	
� D������� f
0��� �
� 
��
� 4�����3 ��� 	�
 4�����

�� :�� f 
�	 f ′ 
���<��5 ���� 	
���

det


4 0 −g2 −g3 0
0 4 0 −g2 −g3

12 0 −g2 0 0
0 12 0 −g2 0
0 0 12 0 −g2

 = −64∆.



I� �����	� �� ��������
�	 ��������	�

�3  �
 8
;
����
�� N�����
�
 )�:������
O �
����
����� ���� �� ���'
�3 λ �
� �������� $ ����� �
�
��� �� $'� �
�� =�
����� :�� 	
�������
����!
���
� ;
� %�	��������
� 9��������� 
���*�����
� )��
����
 �
�'

!� .��C
+"�������"*��� ������� $�� H���
� Ω �
�J� ��
7��
���
���
,��5 (
��
��� ω �
�� 	�
 ���-
��
�� ���*�
�
 F��� ω ;
 Ω �
�G��5 	' �' Ω = Ω'  �

(��������
� 8
��*�
�
 ��� ���-
�������������
 H���
� ���	
�3 	�
 4�������*������% Ω = Zω1 + Zω2 ��� 1

i
ω1, ω2 ∈ R+5

�3 	�� ��������*������% Ω = Zρ+ Z ��� ρ = 1
2
(1 + i

√
3)'

��� 
��<�� 	��
�� 	�


,����������� 	�� Ω ��
 ��
7��
���
���
,���� ������ �


 ���� !"� 
��� z ∈ C \Ω

℘Ω(z) = ℘Ω(z) �
� ℘ ′
Ω(z) = ℘ ′

Ω(z) .

���+���� �
� �

 !"� z ∈ C \ Ω 9
�3 ℘Ω(z) ��� ����� !"� z ∈ R �
� z ∈ iR 
�3 ℘ ′

Ω(z) ��� ����� !"� z ∈ R �
� ���
 ��
��
0� !"� z ∈ iR#

$��
 .������
����
�
�� 
���<�� 	
� ����
�	


("�&� �"� ��
 ������ Ω = Zω1 + Zω2 ��
� 0/���
��
�9

0�3 g2(Ω) �
� g3(Ω) ��
� ,���� �����#
0��3 -��� Gk(Ω) k ≥ 4 ���
�� ��
� �����#
0���3 &�
 ��
 ���@�
 e1, e2, e3 ��
� +��� ��
7������ ������� �
� ��� ������ �����

���� 
��� ���� �����#
0�:3 Ω ��� ��
7��
���
���
,��#

$�����# 0�3 ⇐⇒ 0��3% ��� :
�(
�	
 70�3 
�	 �������� 7 '
0�3 ⇐⇒ 0�:3%  �
 8
��
*�
�� ����� �
� g2(Ω) = g2(Ω), g3(Ω) = g3(Ω) 
�	 	
�
�������
5 	��� Ω ���� �������� 74 	
��� g2 
�	 g3 
��	

��� �
������ ���'
0�3 =⇒ 0���3%  �
 �
��
 e1, e2, e3 ���	 ���� ,��; I �
��
 	�
 9
����
��
� 	
�
�

��
� D������� 4X3 − g2X − g3'  ��
� ��� ���	
��
�� 
��
 9
����
��
 �

��'
0���3 =⇒ 0�3% ��� :
�(
�	
 I0"3 
�	 I0�3' �

-�����
�+� ��� ���-
�������������
� H���
�� ���� ��� 	�
 
���*�����
� )��
!
����
 ��������
�������
� 9���������∫

dt√
q(t)

, q(t) = 4t3 − c2t− c3,

��� �

��
� c25 c3 �
�
���
� 0:��' ��!3'

1� ��� �
�	
 ℘ ��D������ ;**���
�+ �?� ��� #�	
��	�8������� )� 	�
�
�
��������� �
� Ω ��
�� 
�� �
���
��!H���
� 
�	

(ω1, ω2) 
��
 8���� :�� Ω ��� 1
i
ω1 > 0 
�	 ω2 > 0.013



�� ��	 ������
�����
�	 ℘ �������� I7

��� ��
��
�� ���� �
����5 	��� ω1 
�	 ω2 ��
�	
��� 
��	

��� �
������ ���	'

,����������� ��� z ∈ C \ Ω#
�3 ℘(z) ��� ��

� �


 ����� ��

 �� ��
 ω ∈ Ω ��,� ���

0�3 z ∈ ω
2

+ R ���� z ∈ ω
2

+ iR .

�3 �"� z ∈ ω
2

+ R, ω ∈ Ω ��� ℘ ′(z) �����# �"� z ∈ ω
2

+ iR, ω ∈ Ω ��� ℘ ′(z) ���

��
��
0�#

$�����# �
�
� 013 ���� 1
2
(ω − ω) ∈ Ω'  ��� �����

073 ℘
(

ω
2

+ z
)

= ℘
(

ω
2

+ z
)
, ℘ ′ (ω

2
+ z
)

= ℘ ′ (ω
2

+ z
)

�
� D��*������� "' �
�� ℘ �
��	
 
�	 ℘ ′ 
��
��	
 ���5 �
��
� ℘ 
�	 ℘ ′ ��

	
� ���
�
�
�
� ,�
��
� �
� �
!

��
 �;(' �
�� ������<�
 �
��

��'
,
� �
� z ∈ �(ω1, ω2)5 �� 	��� z
����� :�� 	
� 4��� 0�3 ���' �<�

℘(z) �

��5 �� (��	
 ℘ (
�
� 073
�� 	
� :�
� *���(
��
 :
�����
!
	
�
� D
���
�

z, ω1 + z, ω1 + ω2 − z, ω2 − z

�� �(ω1, ω2) 	
� ��
���
� �
��
���
��
�'  �� (�	
��*�����
�
��� �'78' �

•0 •ω2

•ω1 + ω2•ω1

•
z

•
ω2−z̄

•ω1+ω2−z•ω1+z̄

•

•

• •
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("�&� �
� 	

��� ��� &��������������� 0, ω1

2
, ω1+ω2

2
, ω2

2
��� z.:,�
� ���� �����

z �→ w = ℘(z) 
�! ��� �
���� w.<
�,�,�
� ��
!��� �� 
,��,����� �
�� ��� 4

�
��� 4�������� 
�! ��� ������ -���� >��
 −∞ 

�� +∞? ,�7����� 
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$�����# $� �
� V 	�� )��
�
 	
� ����
� @�
��
��
���
���' 4�� z = x + iy ���
0 < x ≤ ε 5 0 < y ≤ ε ��� ����
���
�	 ��
��
� ε > 0 ����

℘(z) = z−2 + O(ε2) =
x2 − y2 − 2ixy

(x2 + y2)2
+ O(ε2).0∗3



II �����	� �� ��������
�	 ��������	�

�
�� ℘(V ) ;
����
��<��
�	 ���5 ��*��;�
�� 	�
 D��*�������

0∗∗3 ℘(V ) ⊂ H ��� H := {w ∈ C ; Im w < 0}5
�
�
� ℘(z + ω/2) = ℘(−z − ω/2) = ℘(−z + ω/2) �����

℘
(

ω3

2
+ V

)
= ℘(V ) ⊂ H ,

℘
(

ω1

2
+ V

)
= ℘

(
ω2

2
+ V
) ⊂ H = {w ∈ C ; Im w > 0} = H,

�� 	��� 	�
 H�
����
�� �� 0∗∗3 �
� 	
� D��*������� 
�	 ,��; �'�. �����' 9���
�
��� �'7� ��� ��� ℘ ′(z) �= 0 ��� ���
 z ∈ V ' ���� ��� ℘ : V → H ���������*�'

4�� ����
���
�	 ��
��
� ε > 0 ��� f(y) := ℘(iy), 0 < y ≤ ε5 (
�
�

f ′(y) = i℘ ′(iy) = 2y−3 + O(ε), ���� f ′(y) > 0,
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� ������� (����
�	' �
� 	
�  �Q
�
�������
���
��

℘ ′2 = 4(℘− e1)(℘− e2)(℘− e3) 
�	 ℘ ′(iy) �= 0


��<�� ��� f ′(y) > 0 ��� 0 < y < ω1/2i' ���� ��� f �
� 	
� �
����
� )��
�:���
]]0, ω1/2i]] ���
�� ������� (����
�	 
�	 ���	
� 
� ��-
���: �
� ]] −∞, e1]] ��'

�
� 	
� ��	
�
� ,
��
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J� ��� <������' �
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e1 < e3 < e2.
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� 4���∫
dt√

4t3 − gt− h
��� g, h ∈ R

N�
�
���
�O% ��� ��� ;
 g 
�	 h 
�� �
���
��!H���
� Ω ��� g = g2(Ω) 
�	
h = g3(Ω) �
�
�	
�5 	��� ���� ��� 0 < r < s < ω2

2

℘(r)∫
℘(s)

dt√
4t3 − gt− h

= s− r.

F
� $����� �
�����
�
�� ��� t = ℘(z) 
�	 �
����
� ℘ ′(z) < 0'
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� ��, 2 5 �"B?��7 0126�35 �
� 	
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� :�� �' ����'

��������	 �� !)� Ej :=
(

ej e2
j+eke�

1 −ej

)
, {j, k, 	} = {1, 2, 3} ����

E2
j = (ej − ek)(ej − e�) ( 1 0

0 1 ) �	� EjEk = (ek − ej)E��

:�� 1�	�� {λEν ; 0 �= λ ∈ C , ν = 1, 2, 3} ∪ {λE; 0 �= λ ∈ C} ��� ��	� �	������  � ��	
GL (2; C)�
�� !)� ������	�� ω ∈ Ω ��� ω /∈ 2Ω #��� T ��D	���� �����

T (z) = Tω(z) :=
℘(ω/4))− ℘(ω/2)
℘(z) − ℘(ω/2)

, z ∈ Ω.


� T ��� ��	� ���
�� ���� ������ !�	&���	 ��*)����� Ω ��� 2���������	 �� ���	�	� �	 ��	
9�	&��	 ��	 Ω �	� 9���	 �� ���	�	� �	 ��	 9�	&��	 ω/2 + Ω�
�� %��� ���
�� ���� ������ !�	&���	 &
		 �
���	
� ����� T �
��������� #����	�
�� T (z) · T (z + ω/2) = 1�
=� 3�� ω1, ω2 ��	� �
��� ��	 Ω� :
		 ����

℘ ′′ (ω1/2) = 6e21−
1
2
g2 = 2(e1−e2)(e1−e3), ℘(iv)(ω1/2) = 72e31−6e1g2 = 24e1(e1−e2)(e1−e3).

1
	 ����� 
	
���� !�����	 �)� ��� .���� 
	 ��	 3�����	 ω2/2 �	� ω3/2 ����

� 1
	 �������� e1, e2, e3 �)� ��	 !
��" �
�� g3 = 0 �*#� g2 = 0 �����
>� 3�� Ω = Zρ+ Z" ρ = 1

2 (1 + i
√

3)� :
		 ����

e2 = ℘Ω(1/2) > 0, e1 = ℘Ω(ρ/2) = −ρe2, e3 = ℘Ω(−ρ/2) = −ρe2.
?� +��� g3 �= 0" �� ����
���� �
	 ��� 	��������" ������	� ��
��������(+������	�

p(X,Y, Z) = 4
g3
X3 − g2

g3
XZ2 − Z3 − 1

g3
Y 2Z = 0�

:����� 9��C	�� ���� 
�� :������	
	��	G/���

�∗� p(X,Y, Z) = det(XA+ Y B − ZE) = 0

��� A,B ∈ Mat(3; C) �
��������� #����	�

� +��� �∗�" �� �����*� A ��� 5���	#���� 1

e1
, 1

e2
, 1

e3
�	� B ��� 5���	#���� 0,± 1√−g3

� :�� 5���	(
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#���� ��	� 7�#����  

�#���� ����������	�

�� 5� ���� ��	� A,��	� ��	 �∗�" �	 ��� A ��	� :�
��	
��
���B �	� B �������C��������� ����

�� 1
	 ���� �B ��*�� ��	� ��������� �� $������	� *#�����	 ��� 5�	�����&���� �	� ��� 5�	(

�����;�
��
� {z ∈ C ; 0 < x, y < 1} �	 C 
	�

�� 3�� Ω = Ziλ+ Zλ" 0 �= λ ∈ C ��	 H�
��
�������� :
		 ��	� ��� 2���������	 ��� ℘E!�	&���	

��	
� ��� 9�	&�� ��� 1�	�� 1+i
2 λ+ Ω� %��� 2��������� ��� ��	 ��� ���	�	� ��

@� 0�� Ω ��	 +�����" �� �
�� ��� ��
������������ ℘(!�	&���	 	�� ��  ���� 2���������	 �
�"

�
		 �B������� ��	 0 �= λ ∈ C ��� Ω = Ziλ+ Zλ�

�#� �	� �$�%
�	� �	� &�' �	����

)� 	�
�
� D�������
� ���� 	�
 ���<�����
�� 	
�������
�������
� ℘?4
������

�	 	
� ������
���?�
��
� Gk :�� H���
� Ω 
��
��
��� (
�	
�'  �;
 �
�
Ω = Zω1 + Zω2 ��
�� 
�� H���
� �� C'

�� 5���+����/� 
�� -"���A�	
���� ��� Ω ��� ��������� �
�� λΩ ��� -
	
�
0 �= λ ∈ C 
�� H���
� �� C' �
� 7'1073 
�	 7'�013 ����� ������

013 ℘λΩ(λz) = λ−2 · ℘Ω(z) 
�	 Gk(λΩ) = λ−k ·Gk(Ω), k ≥ 3.

��� 7'70�35 7'I063 
�	 7'I0B3 
����� ���� �
��

g2(λΩ) = λ−4 · g2(Ω), g3(λΩ) = λ−6 · g3(Ω),

∆(λΩ) = λ−12 · ∆(Ω), j(λΩ) = j(Ω).
0�3

("�&� �"� ������ Ω �
� Ω′ �
 C ��
� 0/���
��
�9
0�3 :� ��,� ��
 0 �= λ ∈ C ��� Ω′ = λΩ#
0��3 j(Ω′) = j(Ω)'

$�����# 0�3 =⇒ 0��3% ��� :
���
���
 0�3'
0��3 =⇒ 0�3% ,
� ;
�<���� j(Ω′) = j(Ω) �= 0'  ��� ���� g2(Ω) �= 0 
�	 g2(Ω

′) �= 0
���� 7'I0B3' ���� 
�����
�� 
�� 0 �= λ ∈ C ���

g2(Ω
′) = λ−4 · g2(Ω) = g2(λΩ) .

��� 0�3 
�	 7'I063 
����� ����

g3(Ω
′) = ±λ−6 · g3(Ω) = ±g3(λΩ) .

$��
�;� ��� ���' λ 	
��� iλ5 �� ����� g2(Ω
′) = g2(λΩ) 
�	 g3(Ω

′) = g3(λΩ)'
 ��� 
��<�� ��� Ω′ = λΩ �
� �������� 7'74' H��� j(Ω) = j(Ω′) = 05 �� �����
g2(Ω) = g2(Ω

′) = 0 
�	 g3(Ω) �= 0 ��(�
 g3(Ω
′) �= 0 �
� �������� 7'I.'  ���
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 8
��
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�� ������' �

)�� (ω1, ω2) 
��
 8���� :�� Ω 0:��' 1'735 �� ����
��� ��� �
�� 0:��' 7'10133
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073 ℘(z;ω1, ω2) := ℘Ω(z) 
�	 Gk(ω1, ω2) := Gk(Ω) ��� k ≥ 3'

 � ��
� ℘ 
�	 	�
 Gk �
� :�� H���
� Ω 
�	 ����� :�� 	
� ���� 
��
� 8����
���<��
�5 
����� 	�� 8����!�
��� 1'� ������

0I3 ℘(z;ω′
1, ω

′
2) = ℘(z;ω1, ω2) 
�	 Gk(ω

′
1, ω

′
2) = Gk(ω1, ω2) ��� k ≥ 3


�	 (
ω′

1

ω′
2

)
= U

(
ω1

ω2

)
��� U =

(
a b
c d

)
∈ GL (2; Z),0"3

���� ���

0�3 ω′
1 = aω1 + bω2 , ω

′
2 = cω1 + dω2 
�	 a, b, c, d ∈ Z , ad− bc = ±1'

4�� 0 �= λ ∈ C ��� 	��� 013 ��� k ≥ 3 �
�� 	�
 4���

℘(λz;λω1, λω2) = λ−2 · ℘(z;ω1, ω2), Gk(λω1, λω2) = λ−k ·Gk(ω1, ω2) .01U3

��� 8���� :�� Ω ���	 ω15 ω2 ��
� R ���
�� 
����<����5 	' �' τ := ω1/ω2 /∈ R'  �
��� (ω1, ω2) �
�� (−ω1, ω2) 
��
 8���� :�� Ω ���5 	��� ��� ���
 $������<��
��
Im τ > 0 ���
��
�' ��� �
����
5 	��� 	�
� �
��
 	��� 	
� 4��� ���5 (
�� 	��
 �
�
�� (0, ω2, ω1) *�����: ���
���
�� ���' �
� 0I3 
�	 01U3 ����
�� ��� 	��
�

063 ℘(z;ω1, ω2) = ω−2
2 · ℘(z/ω2; τ, 1) 
�	 Gk(ω1, ω2) = ω−k

2 ·Gk(τ, 1) ��� k ≥ 3'

F
� E��
��
��
�� :�� 
���*�����
� 4
������
� �
;������ Ω 	��� ��� 	��
� ���

(
�
������
 $������<��
�� ω2 = 15 ����

Ω = Zτ + Z ��� τ ∈ H

���
��
�'  ��
� ��� 	�
 �,��� <
�,�,�
� H 	
/��
�� 	
���

H := {τ ∈ C ; Im τ > 0}'
�
�
�

τ ′ :=
ω′

1

ω′
2

=
aω1 + bω2

cω1 + dω2

=
aτ + b

cτ + d

�	 Im τ ′ =

ad− bc

|cτ + d|2 · Im τ0B3

	��� ��� 	��� ��
� �
�� =�
����� :�� 	
� 8���� (τ, 1) :�� Ω ;
� 8���� (τ ′, 1)
	
� H���
�� 1

cτ+d
Ω ��� τ ′ ∈ H �
� ���� �����;
� U = ( a b

c d ) �
� 	
� ���+�����

��
�
��
 ������ ",�� Z5 ���� SL (2; Z) := {U ∈ GL (2; Z) ; detU = 1}5 ;
����
�
0:��' 1'"0�33'  ���� ���� 0I3 (
�
� 0�3 
�	 01U3 �� 	
� 4���

℘

(
z

cτ + d
;
aτ + b

cτ + d
, 1

)
= (cτ + d)2 · ℘(z; τ, 1)023

�;('

Gk

(
aτ + b

cτ + d
, 1

)
= (cτ + d)k ·Gk(τ, 1) ��� k ≥ 401#3
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� ���	 a, b, c, d ∈ Z 
�	 
� ���� ad− bc = 1'

 � ���� #��
�����A�	��
�+ �?� ��� Gk� F
� �
��
��
�� 
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� �����
� $��!
(����
�� �
�� ��� :�� 
��
� H���
� 	
� 4���

013 Ω = Zτ + Z ��� Im τ > 05 ���� τ ∈ H5

�
� 
�	 �
������
� ��
� τ ��� �
��
���5 ��
� �
��' )� 	
� 8
;
����
�� :�� � ���

Gk(τ) := Gk(τ, 1) =
∑
m,n

′
(mτ + n)−k , k ≥ 4 �
��	
50�3

(��
� 	
� ,����� �� 	
� ,
��
�;
���
� �
	

�
� ����5 	��� ��
� ���
 D���


(0, 0) �= (m,n) ∈ Z × Z

;
 �
���
�
� ���' 9�������� ���� ��� 	�
 Gk ��� �����	
��
� 	
� ��
�
� ����!

�
�
 H ���� C �
Q���
�'

 �� (
�
������
 ���������
� �
��
�� �
� �� 	
� ����
�	
� @
�����
�
��
�
�� 	
�
,��
�!D������!��
��
��(����
��%

,����������� �"� 
��� τ ∈ H �
� 
��� �

+�
 k ≥ 2 ����

∑
n∈Z

(τ + n)−k =
(−2πi)k

(k − 1)!
·

∞∑
r=1

rk−1e2πirτ .073
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��!D��������
��
��(����
�� 0:��' �'
-�����
5 H'  ��"������ R�##�T5 ,��; 11'�'13 
��<�� ��� 	�
 D��������
��!

��(����
�� ( π

sin πτ

)2

=
∑
n∈Z

(τ + n)−2 , τ ∈ C, τ /∈ Z.

 �
 �
���
 ,
��
 ���:
���
�� 	��
� �� -
	
� ���*���
� �� C5 	�� �
��
� D
���
:�� Z 
���<��5 ��
����<J��'�<��� ��� ��
� τ ∈ H5 �� 
��<�� ��� (
�
� |e2πiτ | =
e−2πIm τ < 1 �
��( π

sin πτ

)2

=

(
2πi

eπiτ − e−πiτ

)2

= (−2πi)2e2πiτ 1

(1 − e2πiτ )2
= (−2πi)2·

∞∑
r=1

re2πirτ .
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� �����
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����<J�� �� τ ���:
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�
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��<�� ��� 	
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�
��
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����
  �Q
�
�������� ���� τ ' �
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 :�� 073 ��� �Q
���� �� τ *
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"# �����	� �� ��������
�	 ��������	�

("�&� �"� 
��� τ ∈ H �
� 
��� ���
��
 k ≥ 4 ����

Gk(τ) = 2ζ(k) + 2
(2πi)k

(k − 1)!
·

∞∑
m=1

σk−1(m) · e2πimτ , τ ∈ H,0I3

���

ζ(s) :=

∞∑
m=1

m−s , s > 1, �
� σs(m) :=
∑

d∈N,d|m
ds, s ∈ R .

��� 4���� 0I3 ��
�������� !"� ε > 0 �
 7���� $������ {τ ∈ H ; Im τ ≥ ε} 
,�����
�������0@��# ��� Gk ��
� 
�! H ��������� �
� ��!"���


Gk

(
aτ + b

cτ + d

)
= (cτ + d)k ·Gk(τ) !"� 
���

(
a b
c d

)
∈ SL (2; Z) .0"3

�
�
� 0I3 ��� �
��
�� ����5 	��� 	�
 Gk ��� �
��	
� k ≥ 4 ����� �	
������
:
����(��	
�'

$�����# �
�
� 	
� �����
�
� ���:
��
�; ���� 	
� ���:
��
�;!�
��� 1'2 ���
Ω = Zτ + Z ���� ��� 0�3 
�����
� ��

Gk(τ) =
∑
n �=0

n−k +
∑
m�=0

∑
n∈Z

(mτ + n)−k = 2ζ(k) + 2

∞∑
m=1

∑
n∈Z

(mτ + n)−k .

A
�;� ��<�� ��� 	�
 D��*������� 
�� 
�	 
��<��

Gk(τ) = 2ζ(k) + 2
(2πi)k

(k − 1)!
·

∞∑
s=1

∞∑
r=1

rk−1e2πirsτ .
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 ��� rs = m ;
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� 	
� ����� ��
����<J��
� ���:
��
�; 	
� �
��
 0I3 
�	
0"3 ��� 
��
 E�����
��
�
�� :�� 101#3' �

��� ����
 	
� �
�����
� 4���
�� 0:��' �� ������� R12B6T5 @'"'"3

ζ(4) =
π4

90
, ζ(6) =

π6

945
0�3


��<�� ��� �*
;�
��

G4(τ) =
π4

45

(
1 + 240 ·

∞∑
m=1

σ3(m) · e2πimτ

)
,063

G6(τ) =
2π6

945

(
1 − 504 ·

∞∑
m=1

σ5(m) · e2πimτ

)
.0B3
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8
�
��� 1BB1 ��� �' �"�)�
* 01B"2?12123 �� �
��
�  ���
������� 0'
��# (��.
�� 	5 1?��3 �
;
���5 	��� 	�
 ���
�������
� H�
���
��
�5 	
�
� 	�
 �
��
� Gk

���� �������� 7'7 �
���
�5 ������ ;
 ;���
���
��
�����
� �
����
� �
�
�'
��� ����
�
� 	
� 
��������
� 4��� ���

.�����"� 0�"�)�
*!	��
���0�3' �"� 
��� m ∈ N ����

σ7(m) = σ3(m) + 120
∑
r,s∈N

r+s=m

σ3(r)σ3(s) .

$�����# ��� :
�(
�	
� 	�
 )	
����<� 7G8 = 3G2
4 �
�<J 7'70I3' ��<�� ��� ��
�

063 
�	

G8(τ) = 2ζ(8) + 2
(2π)8

7!
·

∞∑
m=1

σ7(m) · e2πimτ


��5 �� 
��<�� ��� ���� �
��
���*��;�
�
� 
��
 D��
�;�
��
��	
����<� �� q =
e2πiτ ' $�� ��
Y;�
��
�:
���
��� 
����� 7ζ(8) = 6ζ2(4) 
�	

7
2(2π)8

7!
σ7(m) = 3

π8

45 · 45

(
480σ3(m) + 240 · 240

∑
r+s=m

σ3(r)σ3(s)

)
.
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�+��� �3 �
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���
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� �
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O �	
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� ��	
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�
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� 	�
 �
��
 0�3 ��� ζ(4) 
�	 ζ(6) ����� ��� �
����� :���
��
�;
� (���5
���� 	�
�
 ? 
�	 
��
 ���
��
 �
�
����������
� ��� 	�
 ζ(k) , k ≥ 4 �
��	
 ? �
�
	
� )	
����<� 7'70I3 	
��� @
���
��� 	
� ��
Y;�
��
� :�� e2πiτ �
(���
�'
�3  �
 �
����
 	
� D��*������� ��
��� ��� Γ(k) ����� (k − 1)! ��� �
��
���
�
�

��
� k > 1 ������� 
�	 (��	 	��� �������� ���� �' %������
* �
����� 0A'
�
��
 ���
(' ����' ��!5 1�6?1"� 01BB233'
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 �� �������� �
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�
�
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����<� ��� 
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����
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�������
 F���
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�	 ��� �����
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�
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�
�
����
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���
���
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��� ��� -
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	��� �
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(
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�����5 	
� ���
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�
�
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�
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�:
�GQ
�������
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(
��5 	
� ��� ������
�
0�	
� ���:
��
��
�3 D��
�;�
��
� ��� ��
Y;�
��
� �
� Z ���
��
�5 ������ :��
 ' /�	��� 
�	 9'  ���"��� 0126B3' ��� :
���
���
 �
�� 9'  ���"���5 A'
9
��
� ��
��� �'5 �B!67 012273% 4�� 
��
 E��
������
 0�	
� �

��
 @������

x ��� |x| < 13 �
�;� ���

Fn := Fn(x) :=
xn

1 − xn


�	 �
�
��� ;
�<���� 	�
 )	
����<�∑
n

σr(n)xn =
∑
m

mrFm.0∗3
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 ��
� ���	 ��
� 
�	 �*<�
� 	�
 ,
�������
� ��
� ���
 *�����:
� ���;
� F���
�
;
 
����
��
�' �
��
� :
��/;�
�� ���

FmFn = Fm+n(Fm + Fn + 1)'

��� 	
� �����;
��
�

Ak :=
∑

m+n=k

mnFmFn , Bk :=
∑

n−m=k

mnFmFn , Ck := kFk ·
∑
m

mFm

�
(
��� ��� 	���

Ak = 2Fk ·
∑
m<k

m(k −m)Fm +
k3 − k

6
Fk ,

Bk = 2Ck + Fk ·
∑
m<k

m(m− k)Fm −
∑
m>k

m(m− k)Fm ,

����

Ak + 2Bk − 4Ck =
k3 − k

6
Fk − 2

∑
m>k

m(m− k)Fm.

 ���� ����� �
�(∑
n

n3Fn

)2

=
∑
m,n

mn

12
((m+ n)4 + (m− n)4 − 2m4 − 2n4)FmFn

=
∑

k

k4

12
(Ak + 2Bk − 4Ck) =

∑
k

k4

12

k3 − k

6
Fk −

∑
m

m

6
Fm ·

∑
k<m

k4(m− k) .
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� 	�
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��
�����
� ��� 	�
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��
� 	
� I' 
�	 "' D��
�;
�5
�� 
��<�� ���

120

(∑
n

n3Fn

)2

=
∑

k

(k7 − k3)Fk.

�
�
� 0∗3 ��� 	�
� 	�
 �"�)�
*!)	
����<�'
'� ��� ���������"������
 �� 7'70�3 �;(' 7'I063 ����� ���

013 g2(τ) := 60 G4(τ), g3(τ) := 140 G6(τ) 
�	 ∆(τ) := g3
2(τ) − 27g2

3(τ)


��' �
� �063 
�	 �0B3 
��<�� ��� 	���

g2(τ) =
(2π)4

12

(
1 + 240 ·

∞∑
m=1

σ3(m) · e2πimτ

)
,0�3

g3(τ) =
(2π)6

216

(
1 − 504 ·

∞∑
m=1

σ5(m) · e2πimτ

)
.073
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("�&� ��� ��������


�� ∆(τ) ,����+� ��
� ��"����.:
�������
� ��� ����

0I3 ∆(τ) = (2π)12 ·
∞∑

m=1

τ(m) · e2πimτ , τ ∈ H5

��� 1��D+��
��
 τ(m) ∈ Z �
� τ(1) = 1# ��� ��������


�� ∆ : H → C ���
��
� ���������� ��
����
 ��� ∆(τ) �= 0 !"� 
��� τ ∈ H �
�

∆

(
aτ + b

cτ + d

)
= (cτ + d)12 · ∆(τ) !"� 
���

(
a b
c d

)
∈ SL (2; Z).0"3

 �
 8
;
����
�� 	
� ��
Y;�
��
� �� 0I3 ��� τ(m) ��� 
��
 ���	�����5 	�
 �
�	
�
τ U� �����
� ��
� �
�� ������ ;
� ����
���� �
��'

$�����# ��� 	
� �����;
��
�

A :=
∞∑

m=1

σ3(m) · e2πimτ , B :=
∞∑

m=1

σ5(m) · e2πimτ 5

��� ��� ���� 0�3 
�	 073

∆(τ) =
(2π)12

1728
· ((1 + 240A)3 − (1 − 504B)2) = (2π)12 · (e2πiτ + . . .)0∗3


�	 �
���� ��
�� 
��
 D��
�;�
��
 �� q = e2πiτ ' F
� 9���(
��5 	��� ��
� 	�

��
Y;�
��
� �� Z ��
�
�5 ��� ��� ;
�<���� d3 ≡ d5 (mod 12) ��� d ∈ Z 
�	
�������� σ3(m) ≡ σ5(m)(mod 12) ���m ∈ N' 8
;�
�� ��� 	�
 �����

�; ���� �
�
	�
 ��
Y;�
��
�5 �� ���� A ≡ B (mod 12)' A
�;� �
���
� ��� ��	
�� 1728 = 123


�	 �
�����

(1 + 240A)3 − (1 − 504B)2 ≡ 122(5A+ 7B) ≡ 0(mod 123)'

 
� 9
��
� �� 0∗3 ���;� ���� ���� �� ���
� ��
Y;�
��
� �
��
�'
��� g2 
�	 g3 0:��' ,��; �3 ��� �
�� ∆ �������*�' ��� 
��<�� ∆(τ) �= 0 �
�
�������� 7'I.'  �
 8
;�
�
�� 0"3 ����� 	��
�� �
� �0"3 
�	 013' �

0�3

m τ(m) ��������	�
����
��

� � �
� −24 � 23 �
� ��� 22 32 �
� −1 472 � 26 ��
� 4 830 � � � � ��
� −6 048 � 25 33 �
� −16 744 � 23 � �� ��
� 84 480 29 � � ��
� −113 643 � 34 �� ��
�� −115 920 � 24 32 � � ��

�� ��� "*���
�� ��%"��"���� 9
�
� 	
�  �����������
 ∆ �*�
�� 	�
 �����
�

)�:������
 j �
�<J 7'I0B3 
��
 (������
 ����
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013 j(τ) := (12g2(τ))
3/∆(τ) , τ ∈ H'

��� �
����
5 	��� j(τ) (
�
� ,��; 7 ��� ���
 τ ∈ C ��� Im τ > 0 
���<�� ���'
g2 
�	 ∆ ���	 ���� 70�3 
�	 70I3 	
��� ��"����!�
��
� �� τ 	����
�����5 ����
D��
�;�
��
� �� q := e2πiτ ' F
� �
��
��
�� 
��
� 
���*�
��
�	
� �
��
 ��� j
�
�G���� ��� 	�


,����������� ��
� f �
� g !"� |q| < 1 ��
�����
�� ����
+�����
 

f(q) =
∑
n≥0

anq
n , g(q) =

∑
n≥0

bnq
n , an , bn ∈ Z,

��� b0 = 1 �
� g(q) �= 0 !"� |q| < 1 �� ��� 
��� f/g ��
� !"� |q| < 1 ��
�����
��
����
+����� ��� 1��D+��
��
 
�� Z#

$�����# F
�<���� ���	 f 
�	 g5 ���� �
�� f/g ��� |q| < 1 �������*�5 ���� 	���
�� 
��
 D��
�;�
��
 
��(���
����5 	
�
� ��
Y;�
��
� (�� ��� cn �
;
����
�' �
�(∑

n≥0

cnq
n

)
·
(∑

n≥0

bnq
n

)
=
∑
n≥0

anq
n

��(�
 b0 = 1 ����� 	�
 �
�
����������
�

c0 = a0 , cm = am −
m−1∑
n=0

cnbm−n , m ≥ 1.

���� ���	 ���
 cm ���;
 F���
�' �

 ���� 
�����
� (�� 	
�

("�& ;� ��� 
,������ 	
�
��

�� j : H → C ��� ��������� �
� ,����+� ��
�
��"����.:
�������
� ��� ����

j(τ) = e−2πiτ +
∑
m≥0

jm · e2πimτ = e−2πiτ + 744 + 196884 · e2πiτ + . . .0�3

��� jm ∈ Z !"� 
��� m ≥ 0# :� ����

j

(
aτ + b

cτ + d

)
= j(τ) !"� 
���

(
a b
c d

)
∈ SL(2; Z) .073
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("�& -� ��
� τ, τ ′ ∈ H �
� ���� j(τ ′) = j(τ) �


 ��,� �� ��
� '
���� ( a b
c d ) ∈

SL (2; Z) ���

τ ′ =
aτ + b

cτ + d
.

$�����# 9��� @���
��
�;
�� ���� j(Zτ ′ + Z) = j(Zτ + Z)' $� ����� Zτ ′ + Z =
Zλτ + Zλ ��� 
�� 0 �= λ ∈ C �
� ,��; 1'  ��� ���	 ���� (τ ′, 1) 
�	 (λτ, λ) ;(
�
8��
� 
��
� H���
��' 9��� 	
� 8����!�
��� 1'� ���� 
� 	��
� M = ( a b

c d ) ∈
GL (2; Z) ��� τ ′ = aλτ + bλ, 1 = cλτ + dλ5 ���� τ ′ = aτ+b

cτ+d
'  � ��
� τ 
�	 τ ′ ��

H ��
�
�5 ����� detM = 1 �
� 10B3' �

$��
 �*<�
� �� �������� )))'"'�� �� ���<��
�
� 4��� ;
 �
(
��
�	
 �
����
 ��!
��
�
� (�� �
�
��� -
�;� ���

("�& 6� 2� 7���� c ∈ C ��,� �� ��
 τ ∈ H ��� j(τ) = c#

$�����# ��� �
��
� ��5 	��� j(τ) �= c ��� ���
 τ ∈ H ����'  ��� ���

F (τ) =
j′(τ)

j(τ) − c

�������*� �
� H' ��� �
������
� 	�� )��
!
����∫

γ

F (τ)dτ , γ = γ1 + γ2 + γ3 + γ4 + γ5 ,

��� 	
� �
� γ = ∂G �
� �
�
���
�
�	
�
�����	
��' �
� 073 �����

F (τ + 1) = F (τ) , F (−1/τ) = τ 2 · F (τ) .
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 ���
� 
����� ����∫
γ1

F (τ)dτ +

∫
γ3

F (τ)dτ =

∫
γ4

F (τ)dτ +

∫
γ5

F (τ)dτ = 0.

9��� 	
� D��*������� 
�	 0�3 �
���;� F (τ) 
��
 ��"����!$��(����
�� 	
�
4���

F (τ) =
∑
m≥0

ame
2πimτ , a0 = −2πi .

 ���� 
��<�� ���
∫

γ2
F (τ)dτ = 2πi' ��� 	
� �
��	

����; ����� �
�

2πi ·
∑
τ∈G

ordτ (j − c) =

∫
γ

F (τ)dτ = 2πi .



"� �����	� �� ��������
�	 ��������	�

 �� ��� 
����	
��*�
��' ���� 
�����
�� 
�� τ ∈ H��� j(τ) = c' �

8
������
� ��� ���
����� ����
�
��
� �� ,�
��
 :�� j(τ)5 	' �' �� ,�
��
 
��
�
H���
�� 	
� 4��� Zτ +Z , τ ∈ H5 	�
 �����
�
 )�:������
 j(Ω) ��� 
�� �
��
���
�
H���
� Ω :�� C �
�<J 7'I0B35 �� ;
��� ,��; 1

j(Ω) = j (ω1/ω2) , ����� Im (ω1/ω2) > 0.0I3

 �
 8
	

�
�� 	
� ,��;
� � ��� 
���*�����
 4
������
� ��
�� �
� �� 	
�

.�����"�� ��
� c2, c3 ∈ C ��� c32 − 27c23 �= 0 �


 ��,� �� ��

� ��
 ������ Ω
�
 C ���

c2 = g2(Ω) �
� c3 = g3(Ω).

$�����# 9��� ,��; . ���� 
� 
�� H���
� Ω ���

j(Ω) =
(12c2)

3

c32 − 27c23
.

�3 c2 = 0%  ��� ��� j(Ω) = 05 ���� g2(Ω) = 0 , g3(Ω) �= 0' ��� (<��� �
� 
��
0 �= λ ∈ C ��� g3(Ω) = λ6c3' �
�
� 10�3 �����

g3(λΩ) = λ−6 · g3(Ω) = c3 
�	 g2(λΩ) = λ−4 · g2(Ω) = 0 = c2.

�3 c2 �= 0%  ��� ��� j(Ω) �= 05 ���� g2(Ω) �= 0' ��� (<��� �
� 
�� 0 �= λ ∈ C
��� g2(Ω) = λ4c2' $� ����� g2(λΩ) = c2 
�	 �
� j(λΩ) = j(Ω) 
��<�� ���
c23 = g2

3(λΩ)'  �
 $����
�; 
����� ����5 ��	
� ��� ���' λ 	
��� iλ 
��
�;�'

 �
 $��	

����
�� 
����� ���� �� �
�	
� 4<��
� �
� �������� 7'74' �

-�����
�+� �
���
�	 	
� ���������5 	�� �
�� ��� 	
������
�*�
�+ �
;
����
�
(��	5 ���� ��� ��� 	
� ;
�
�G���
� ������
�������
� ℘?4
������5 	�
 ��
$'� �
�����
�  �Q
�
�������
���
��
� 
�	 )��
��������*����
�
 �G�
�'

!� -���	
�
�+ ��� �
��
�
�����+�"��� ��� (
�	
� �
� 	�
 $��
�����

��5 
� 	�� �� $'7013 �
�����
�
�
 ��	����?)��
���� ;
 �
�
���
�'  �;
 �
�

Γ(s) :=

∞∫
0

ts−1e−tdt, s ∈ C, Re(s) > 0,013

	�
 �
��
*��
����
 0:��' �' -�����
 R122"T5 �'7'�3'

,����������� :� ����

∞∫
1

1√
4x3 − 4x

dx =

1∫
0

1√
1 − t4

dt =
Γ(1/4)2

4
√

2π
.



�! ��	 "#�$�����	�� ��% ����	
 "6

$�����#  
��� 	�
 ,
�����
���� x = 1/t2 �
�� 	�� 
���
 )��
���� �� 	�� ;(
��

��
�' �
� 013 ����
�� ���

Γ(1/4)2 =

∞∫
0

∞∫
0

(xy)−3/4e−(x+y)dx dy.

��� 	
� ,
�����
���� x = r2 cos2 ϕ, y = r2 sin2 ϕ 
��<�� ���

Γ(1/4)2 = 4
√

2 ·
∞∫

0

e−r2

dr ·
π/2∫
0

1√
sin(2ϕ)

dϕ

= 4
√

2π ·
π/4∫
0

1√
sin(2ϕ)

dϕ = 4
√

2π ·
1∫

0

1√
1 − t4

dt ,

(
�� ��� -� -�����
5 H'  ��"������ R�##�T5 1�'I'�5 
�	 	����
� ����
�
	�
 ,
�����
���� t =

√
sin(2ϕ) :
�(
�	
�' �

9
� �
�
���
� (�� ;
�<���� 	�
 ������
���?�
��
� ;
� H���
� Zi+ Z'

("�& ;� :� ����

g2(Zi+ Z) =
Γ(1/4)8

16π2
und g3(Zi+ Z) = 0.

$�����# �
�
� Zi+ Z = i(Zi+ Z) ����� �
� 10�3

g3(Zi+ Z) = g3(i(Zi+ Z)) = −g3(Zi+ Z), ���� g3(Zi+ Z) = 0.

��	
�
��
��� 
��<�� ��� �
� 70�3

g2(Zi+ Z) = g2(i) =
(2π)4

12
(1 + 240 ·

∞∑
m=1

σ3(m) · e−2πm) > 0.

 ��� 
�����
�� ���� 10�3 
�� λ ∈ R5 λ > 05 �� 	��� Ω := λ(Zi+ Z) = Ziλ+ Zλ
�
�
��� g2(Ω) = 4 
�	 g3(Ω) = 0 
������' �
�
� 4x3 − 4x = 4x(x − 1)(x + 1)
����� e1 = −15 e2 = 15 e3 = 0 �
� ,��; 7'I' ��� ,��; 7'� ��(�
 ℘ = ℘Ω 
�����
����

∞∫
1

1√
4x3 − 4x

dx =

0∫
λ/2

℘′(t)√
4℘(t)3 − 4℘(t)

dt =

λ/2∫
0

dt =
λ

2
,

(
�� ��� 	�
  �Q
�
�������
���
�� �'7 ��(�
 ℘′(t) < 0 �
� ]]0, λ/2[[ :
�(
�	
�'
 �
 D��*������� ����� �
� λ = Γ(1/4)2/(2

√
2π)' �
� 10�3 
����� ���� 	���

g2(Zi+ Z) = λ4 · g2(Ω) =
Γ(1/4)8

16π2
.

�



"B �����	� �� ��������
�	 ��������	�

.�����"� ��� Ω = Zi + Z �
� ℘ = ℘Ω ��� +��������� ������
�������� ℘?
��
����
# 	�� 0 < R ≤ 15 �� ���� !"� �
� ��	����?	
����
� $ 7013

R∫
0

1√
1 − t4

dt =
Γ(1/4)2

2
√

2π
ξ ,

��,�� ξ ∈ ]]0, 1/2]] ,������� ��� �����

℘Ω(ξ) =
Γ(1/4)4

8πR2
.

$�����# ,
�;� ��� λ = Γ(1/4)2/(2
√

2π)5 �� ����� ��� ,��; �

λξ = λ

0∫
ξ

℘′(s)√
4℘3(s) − 4λ4℘(s)

ds = λ

∞∫
λ2/R2

1√
4x3 − 4λ4x

dx =

R∫
0

1√
1 − t4

dt,

(
�� ��� 	�
 ,
�����
���� x = λ2/t2 :
�(
�	
�' �

$�� 
���*�
��
�	
� $��
���� ���� �
� ���� ��� 	�� ,
���
��?H���
� �
��
�
��
�
(
�	
�' ������ ;
� D��*������� 
��<�� ��� 	��

$���"� :� ����

∞∫
1

1√
4x3 − 4

dx =

1∫
0

1√
1 − t6

dt =

√
π · Γ(1/6)

6 · Γ(2/3)
.

$�����#  �
 
���
 H�
���
�� ����� ��� 	
� ,
�����
���� x = t−2' �
� 013 
��<��
���

Γ(1/2) · Γ(1/6) =

∞∫
0

∞∫
0

x−1/2y−5/6e−(x+y)dx dy

��� 	
� ,
�����
���� x = r cos2 ϕ5 y = r sin2 ϕ 
����� ����

Γ(1/2) · Γ(1/6) = 2

∞∫
0

π/2∫
0

r−1/3(sinϕ)−2/3e−rdϕ dr = 6Γ(2/3) ·
1∫

0

1√
1 − t6

dt,

(
�� ��� �� �
�;�
� ,������ t = (sinϕ)1/3 �
�����
�
��' �
�
� Γ(1/2) =
√
π

0:��' -� -�����
5 H'  ��"������ R�##�T5 1�'I'�3 ����� 	�
 8
��
*�
��' �

9
� �G��
� (�� 	�
 ������
���?�
��
� ;
� H���
� Zρ+ Z �
�
���
�'

("�& -� ��� ρ = 1
2
(1 + i

√
3)' �


 ����

g2(Zρ+ Z) = 0 �
� g3(Zρ+ Z) =
4π3 · Γ(1/6)6

36 · Γ(2/3)6
.



�! ��	 "#�$�����	�� ��% ����	
 "2

$�����# �
� ρ2 = ρ− 1 ����� ρ(Zρ+ Z) = Zρ+ Z 
�	 ��� 10�3

g2(Zρ+ Z) = g2(ρ(Zρ+ Z)) = ρ−4 · g2(Zρ+ Z), ���� g2(Zρ+ Z) = 0

(
�
� ρ−4 �= 1' ��	
�
��
��� 
��<�� ��� �
� 7073

g3(Zρ+ Z) =
(2π)6

216
(1 − 504 ·

∞∑
m=1

(−1)mσ5(m) · qm), q = e−π
√

3.

�
� 	
� �����<�;
��

σ5(m+ 1)qm+1

σ5(m)qm
≤
(
m+ 1

m

)5

ζ(5) · q ≤ 25 · π
4

90
· q < 1

�����5 	��� (σ5(m)qm)m≥1 
��
 ������� ����
�	
 9
������
 ���' 9��� 	
� %��&��*?
����
��
� ��� g3(Zρ+Z) 	��
� *�����:'  ��� 
�����
�� ���� 10�3 
�� λ ∈ R5 λ > 05
�� 	��� 	�� H���
� Ω = λ(Zρ+ Z) = Zλρ+ Zλ �
�
��� g2(Ω) = 0 
�	 g3(Ω) = 4

������' �
�� 1 	�
 
��;��
 �

��
 9
����
��
 :�� 4x3 − 4 
�	 ℘(x) = ℘Ω(x) ���
x ∈ R\Z ���� D��*������� 7'" �

�� ���5 �����

e2 = 1 
�	 lim
x↓0

℘Ω(x) = ∞.

 � 	�
 ℘?4
������ �
� ]]0, λ/2]] ���
�� ������� ���5 
����� ����

∞∫
1

1√
4x3 − 4

dx =

0∫
λ/2

℘′(t)√
4℘(t)3 − 4

dt =

λ/2∫
0

dt = λ/2,

(
�� ��� 	�
  �Q
�
�������
���
�� �� ,��; �'7 :
�(
�	
�'  �� �
��� �����
�
� 	
� �
�� λ =

√
π · Γ(1/6)/

(
3 · Γ(2/3)

)
' �
� 10�3 
����� ���� 	���

g3(Zρ+ Z) = λ6 · g3(Ω) =
4π3 · Γ(1/6)6

36 · Γ(2/3)6
.

�

-�����
�+� �
� 	
� $��
�������
� 	
� H����!4
������ 0:��' -� -�����

R122"T5 �'�'�3 ����
�� ��� �
����

1∫
0

1√
1 − t6

dt =
Γ(1/3)3

4π 3
√

2
, g3(Zρ+ Z) =

(
Γ(1/3)3

2π

)6

.

��������	 �� !)� z ∈ C \ Z ��� τ �→ ℘(z; τ, 1) ��	� ������� �� !�	&���	 
�� H� 1
	
�������� ��� 9��� �	� ��� I
� ������ ��� �����	�(5	�#��&��	��	� 1
	 �	�#��&�� ℘(z; τ, 1)
�	 ��	� �
��
��(8���� ��*)����� τ �
�� '�  

�#���� ����������	�	 α, β, γ ∈ C ��� α + β + γ = 0 ���� �� ��	
� ��	 +����� Ω ���
e1 = α , e2 = β �	� e3 = γ�
=� :
� +����� Ω ���)��� ��	
� �
		 g3(Ω) = 0 �*#� j(Ω) = 1728" #�		 �� ��	 0 �= λ ∈ C ����



�# �����	� �� ��������
�	 ��������	�

��� Ω = Ziλ + Zλ� :
� +����� Ω ���)��� ��	
� �
		 g2(Ω) = 0 �*#� j(Ω) = 0" #�		 �� ��	
0 �= λ ∈ C ���� ���

Ω = Z1
2 (1 + i

√
3)λ+ Zλ.


� +�	
� �
		 ���� j(Ω) ∈ R ����� =�>�" #�		 �� ��	 0 �= λ ∈ C ����" �� �
�� λΩ &�	7��
���	�(
��
��� ���� 5� ���� j(τ) ∈ R" �
��� 2Re (τ) ∈ Z�
>� e1, e2, e3 ��	� ��	
� �
		 
��� �����" #�		 g2(Ω) �	� g3(Ω) ����� ��	� �	� ∆(Ω) > 0 �����
?� Ω ��� ��	
� �
		 ��	 +�����" ��� ��� ��� 2���������	 ��	 ℘Ω(z) �	 1

2Ω �	��
���	 ��	�" #�		
Ω = Ziλ+ Zλ �)� ��	 0 �= λ ∈ C �����
�� .�� �	 6�����
� 
�
5 ����
���� �
	 ��� !�	&���	

λ : H → C , λ(τ) :=
℘(1/2; Zτ + Z) − ℘((τ + 1)/2; Zτ + Z)
℘(τ/2; Zτ + Z) − ℘((τ + 1)/2; Zτ + Z)

.

:
		 ��� λ ������� � ��� λ(τ) �= 0, 1 �	� ���)���

λ

(
aτ + b

cτ + d

)
= λ(τ) �)� 
���

(
a b
c d

)
∈ SL (2; Z) ��� b ≡ c ≡ 0 (mod 2),

λ(τ + 1) = 1 − λ(τ), λ(−1/τ) = 1/λ(τ).

�� 3�� λ : H → C #�� �	 $���
�� � ��D	����� :
		 �B������� *� γ ∈ C ��� γ �= 0, 1 ��	 τ ∈ H

��� λ(τ) = γ�

@� 1
	 ������	� ��	 $	
����	 ��� ����
��(0��	���/� �)� σ9 �	� σ11" �	 ��� 	�� σ3 �	� σ5

���&����	�

�(� ���	��	���� ���&�
 �
� �
�

���	�	�
�������' ��� ℘ "��
 �	�


�
�� 
� ����� �
�	�������� ��	
�� �
���� (��	5 ��� Ω = Zω1 + Zω2 �
�� ��
	�
�
� D�������
� 
�� �
��
���
� H���
� �� C 
�	 ℘(z) = ℘Ω(z) = ℘(z;ω1, ω2)
	�
 ;
�
�G���
 ������
�������
 ℘!4
������'

�� �"� ;���������
������ �"� 
��� z, w ∈ C ��� z, w, z ± w /∈ Ω ����

℘(z + w) + ℘(z) + ℘(w) =
1

4

(
℘ ′(z) − ℘ ′(w)

℘(z) − ℘(w)

)2

.013

��� ��� 	�;
 ;
�<���� 	�


,����������� �"� w ∈ C \ 1
2
Ω ���

f(z) := f(z;w) :=
1

2

℘ ′(z) − ℘ ′(w)

℘(z) − ℘(w)
0�3

��
� ����������� ��
����
 +�� ������ Ω ��� ����
 ������ )��
�
� �
 ��
 ��
�.
��


073 z ∈ Ω �
� z ∈ −w + Ω



�& ��������
�	 ��
�	� ' "����������	�
	% �1

�
� <
��������


f(z;w) = −1

z
− ℘(w) · z + O(z2) ,�� z = 0,0I3

f(z;w) =
1

z + w
+ c(w) + O(z + w) ,�� z = −w.0"3

 
� ��
Y;�
�� c(w) (��	 ����
��� �
������'

$�����# �
J
� �� 	
� ,�
��
� 073 ��� f ;
�<���� �� 	
� ,�
��
� z ∈ w+Ω �����
	
/��
��' �
�
�

lim
z→w

f(z;w) =
1

2
lim
z→w

(℘ ′(z) − ℘ ′(w)) /(z − w)

(℘(z) − ℘(w)) /(z − w)
=

1

2

℘ ′′(w)

℘ ′(w)


�	 �
��� �'7� ��
�
� ��
� ��
� �
����
 ,���
�����<�
� :��' 8
� z = 0 :
�!
(
�	
� ��� ℘(z) = z−2 + O(z2)5 ���� ℘ ′(z) = −2z−3 + O(z) ;
� 8
(
�� :��
0I3' 8
� z = −w ��
�� ���� �'70"3 
�� 
������
� D�� :��5 	
��
� �
��	

� ����
���� ,��; �'�8 ;
 1 
�����' �

E# $����� ��� -������
��������� �
� ��� �
������ ��


0"U3 c(w) = 0'

0$�� �' 8
(
�� ����� �� ��������� "'3 ��� �
������
 	�
 
���*�����
 4
������

g(z) := (f(z;w))2 − ℘(z + w) − ℘(z) − ℘(w) , w ∈ C \ 1
2
Ω'

9��� 	
� D��*������� ��� g �G����
�� �� 	
� D
���
� 073 D��
' 8
� z = 0 ����

0∗3 g(z) = (z−2 + 2℘(w)) − ℘(w) − z−2 − ℘(w) + O(z) = O(z)5


�	 �
� z = −w ���

g(z) =
1

(z + w)2
+

2c(w)

z + w
− 1

(z + w)2
+ O(1) =

2c(w)

z + w
+ O(1).

 ����� �<��
 g �G����
�� D��
 
���
� C�	�
�� �� 	
� ,�
��
� −w + Ω' 9���
,��; �'�8 �G��
� �����
 D��
 ��
� ����� �
���
�
�' $� ����� ���� c(w) = 0 
�	
g ��� ���� ,��; �'�� ��������' �
� 0∗3 
����� ���� g = 0'

 �
 ����
� �
��
�������
�
� 4<��
 ω ∈ Ω5 w = ω/2 /∈ Ω ����
� �
� �
� ,�
���!
�
�������	
�' �

.�����"� ;� �"� z ∈ C \ 1
2
Ω ����

℘(2z) = −2℘(z) +
1

4

(
℘ ′′(z)
℘ ′(z)

)2

.0�3

$�����# 4�� w → z 
��<�� ��� 0�3 �
� 013' �


